KOYO BEARING PART NUMBERS

KEY
PLAIN

z

7z

DDU

N WITH
NR WITH

UN-SHIELDED

SINGLE METAL SHIELD
DOUBLE METAL SHIELD
DOUBLE RUBBER SHIELD
CIRCLIP GROOVE

CIRCLIP GROOVE & CIRCLIP

417

telephone: 0114 2462027 | Fax: 0114 2454232



FRONT SPOCKET REAR WHEEL FRONT SPOCKET REAR WHEEL
MAKE & MODEL YeAR L/H & R/H CARRIER LEFT RIGHT MAKE & MODEL YEAR L/H & R/H CARRIER LEFT RIGHT
HONDA C90E 84-86 63002 62032 63012 63012
C50 75-78 6300Z 62032 63012 63012 C90G Cub 87-95 63002 62032 63012 63012
C50z2z 79-83 63002 62032 63012 63012 C90MF 85-86 63002 62032 63012 63012
C50L (Single Seat) 80-85 6300Z 62032 63012 63012 C90MG E/Start 87-93 63002 62032 63012 63012
C50 Cub 82-86 63002 62032 63012 63012 C90M-P 96- 63002 62032 63012 63012
C50 LAC/LAE/LAG 82-89 63002 62032 63012 63012 CB100N/NA 78-87 63012 NONE 63012 61012
C50E Super Cub 84-86 63002 62032 63012 63012 H100A 80-83 63012 62032 63012 63012
CB50J 78-81 63012 NONE 63012 63012 H100SD 84-92 63012 62032 63012 63012
CF50 Chaly 78-79 62012 NONE 63012 62012 H100S2G/S) 78-80 63012 NONE 63022 62022
CHF50 09 6200DDU SCV100 Lead 03-04 6201DDU
CHF50S 09 6200DDU SJ100 62012 NONE NONE NONE
CR50 62012 63012 62012 XL100SZ/SA/SB 78-85 63012 NONE 63022 63022
MBS50SA 80-82 63012 NONE 63012 63012 NHX110 10 6201DDU
MBX50SD 83-86 62012 NONE 63012 63012 ANF125 03-06 6201DDU 6201DDU 6301DDU
MT50SA 80-83 63012 NONE 63012 63012 CA125 REBEL 96-99 6302DDU 6004DDU 6202DDU 6302DDU
MT50SF/SG/S) 85-89 63012 NONE 63012 63012 CB125) 78-79 63012 NONE 63022 62022
MT50SL 90-93 63012 NONE 63012 63012 CB125K1-K6 (Twin) 72-76 63022 NONE 63012 62022
MTX50SC 82-86 63012 NONE 63012 63012 CB125RS 83-86 63012 NONE 63022 63022
NB50ME Aero 84-85 62002 NONE NONE NONE CB12551/S2 75-79 63012 NONE 63012 62022
NB50MF Vision aeX4& 85-88 62002 NONE NONE NONE CB125T/T2/TB (Twin) 78-82 63012 NONE 63012 63012
NC50K1/Z Express 1 79-82 6200Z NONE NONE NONE CB125TDC/TDE S/Dream 82-87 63022 NONE 63012 63012
NC50C Express 2 82-85 62002 NONE NONE NONE CB125TDJ S/Dream 88-89 6302DDU  NONE 6302DDU  6302DDU
NC50A/B Express 3 82-85 62002 NONE NONE NONE CBF125M 09-10 6301DDU 6203DDU 6301DDU 6301DDU
ND50 Melody Deluxe 81-85 62002 NONE NONE NONE CBR125 RR4-9/A 04-10 6301DDU 6203DDU 6301DDU 6301DDU
NES0MF Vision 85-90 62002 NONE NONE NONE CD125TC Benly (Twin) 82-85 63022 60052 62022 63022
NP50D Mini Melody 6v 83-84 62002 NONE NONE NONE CG125K1/KB/C 78-83 63012 NONE 63022 62022
NPS50 09-12 6200DDU CG125E/F/)/K Brazil 84-93 63012 NONE 63022 62022
NPS50S 09 6200DDU CG125 94-02 63012 NONE 63022 62022
NS50D-B Melody 81-85 62002 NONE NONE NONE CH125MD-MG/EG Spacy 83-87 62012 NONE NONE NONE
NT50F/G Mini Melody 85-86 62002 NONE NONE NONE CLR125 City Fly 99-03 62022 NONE 63022 62022
NT50H Mini Vision 87-92 62002 NONE NONE NONE CM125CC Custom (Twin) 82-86 63022 NONE 63012 63012
NU50M-C Runaway 82-85 62002 NONE NONE NONE CT125C 82-84 63012 NONE 63022 63012
NV50MS-D Stream 83-86 6003 NONE NONE NONE FES125W Pantheon 62012 NONE 63032 63032
NX50B Caren 81-83 62002 NONE NONE NONE MBX125FE 84-86 62012 NONE 63012 61022
PA50 Camino 78-82 62002 NONE NONE NONE MTX125RWD (Drum) 83-84 62022 NONE 63022 62022
PA50 Camino 83-92 |CUPS+CONES NONE NONE NONE MTX125RWF-RWL (Disc) 85-93 62022 NONE 63022 62022
PC50K1 79-82 62012 NONE 62012 62012 NES125 00-06 6201DDU 6303DDU
PX50 81-86 CUPS+CONES NONE NONE NONE NH125MDD/MDG Lead 83-87 62012 NONE NONE NONE
PXR50E/F/G 85-87 BUSHES  NONE NONE NONE NS125FG/FH 86-90 62012 NONE 63012 62012
SA50J Vision Met-in 88-92 62002 NONE NONE NONE NS125RK/RL 88-93 62012 NONE 63022 62022
SA50M/P Vision Met-in 92-93 62002 NONE NONE NONE NSR125RK/RL/RM/RN 90-94 60022 NONE 63012 6003
SH50J/K/M/N City Express 84-93 62012 NONE NONE NONE NSR125RR 96-03 6002DDU 6203DDU  6003DDU
SFX50 600022 NONE NONE NONE PCX125 10-13 6201DDU 6203DDU
SGX50 6202DDU  NONE NONE NONE SES125 Dylan 02-05 6201DDU 6303DDU
SJ50 62012 NONE NONE NONE SH125i 10 6201DDU 6303DDU
SS50ZK (Drum Brake) 78-80 63002 NONE 63012 63012 SL125K1A 76 63012 NONE 63012 63012
SS50ZB (Disc Brake) 78-80 63012 NONE 63012 63012 SL125KID 76-80 6301Z NONE 63012 63012
ST50K3 78 63012 NONE 63012 63012 TL125 78-79 63012 NONE 63012 63012
ST50J/K Dax 88-93 63012 NONE 63012 63012 VT125C Shadow 63022 6004DDU 62022 63022
SZX50 X8R-S 62012 NONE NONE NONE XL125K2 78 63012 NONE 63012 63012
SZX50 X8R-X 62012 NONE NONE NONE XL125K3 79 63012 NONE 63022 63022
C70 75-78 63002 62032 63012 63012 XL125SA/SB/SC 79-82 63012 NONE 63022 63022
C7022/22 79-83 63002 62032 63012 63012 XL125RC (Drum) 82-84 62022 NONE 63032 61032
Cc70C 82-86 63002 62032 63012 63012 XL125RF (Disc) 85-87 62022 NONE 63032 61032
C70E Cub 84-86 63002 62032 63012 63012 XL125V 01-06 6302DDU 6004DDU 6202DDU 6302DDU
CF70K2 77-81 63012 NONE 63012 63012 XLR125RW 62022 NONE 63032 62032
CF70 Chaly 82-86 63012 NONE 63012 63012 XL125 Varadero 01-10 6302DDU 6004DDU 6302Z 62022
ST70K3 77-81 63012 NONE 63012 63012 FES150W Pantheon 62012 NONE 63032 63032
NF75 78-84 63002 NONE NONE NONE PCX150 13 6201DDU 6203DDU
CR80 86-02 6201DDU 6002DDU 6202DDU  SH150i 10 6201DDU 6303DDU
MBX80FWD 83-86 62012 NONE 63012 63012 CB175(Twin) (All Models) 74-76 63022 NONE 63022 63012
MTX80RFD/RFF 83-86 63012 NONE 63012 63012 CD175(Twin) (All Models) 71-78 63022 NONE 63012 63012
NH80MDD/MDG Lead 83-86 62012 NONE NONE NONE CD185T (Twin) 78-82 63022 60052 63012 63012
NH80MDH Vision 87-92 62012 NONE NONE NONE XL185SZ/SA/SB 79-84 63012 NONE 63012 63012
CR85 03 6201DDU 6002DDU  6202DDU  CB200B (Twin) 76-79 63022 NONE 63032 63032
C90 75-80 63012 62032 63012 63012 CD200TB Benly 79-86 63022 60052 61012 63012
€90zz 79-84 63012 62032 63012 63012 CM200TA/TB 80-84 63022 NONE 63022 63022
Cc90C 83-85 63012 62032 63012 63012 MTX200RWD 83-86 62022 NONE 63022 62022

web: www.staniforths.co.uk |

Email: sales@staniforths.co.uk

418

BEARINGS




%)
O
=
oc
<T
i
(aa]

MAKE & MODEL

CB250N (Not S/Dream)
CB250G5

CB250K1-K4

CB250NA Super Dream
CB250NB/NDX-B S/Dream
CB250RSA
CB250RSD-C (E/Start)
CB250T Dream
CB250W-Y

CB250

CBF250

CBR250F-R

CBR250RR

CBR250R - B,C,D
CBR250RA - B.C,D
CBX250RSE
CD250UJ/UK

CJ250T

CL250SC

CH250 Spacey
CN250L/M/N
CM250TB Custom
CMX250CT

CMX250C3 -C9/A.B.C,D
FES250 Foresight
NSR250R7

NSR250R8

NSR250R9

VT250FD

XL250K3/4 Single Pipe
XL250RC
XL250RE/RF/RG/RH
XL250RL

XL250SZ/SA

XL250SB

CB350K4

CB350SG

CB360G5

CJ360T

CB400A Hondamatic
CB400F1/2

CB400ONA Super Dream
CB400ONB Super Dream
CB40ONC Super Dream
CB400T Dream
CBR400RR Aero/NC29
NS400RF

VF400FD
VFR400R3L/R3M
XR400

CB450DX

CB500F / A
CB500K1/K2/F

CB500T (Twin)
CB500RR-RW
CB500V-Y

CB500SV-SY

CB500/S 1/2/3
CBF500

CBR500R

CBR500RA
CX500Z/A/B

CX500CB Custom
CX500EC EuroSport
CX500TC Turbo
FT500C

GL500 Silver Wing
NX500 Dominator

419

FRONT

SPOCKET

YEAR L/H & R/H CARRIER

92-02 63022
75 63022
73-75 63022
79-80 63022
81-85 6302Z
80-84 63022
82-84 63022
78 6302Z
63022
03-08 6302DDU
04 6302DDU
6004DDU
6004DDU
11-13 6302DDU
11-13 6302DDU
84-86 6202Z
88-93 62022
77-79 6302Z
82-84 6302DDU
85-87 62012
89-92 62012
81-84 6302Z
96 6302DDU
03-13 6302DDU
6201z
60042
6004DDU
60042
83-87 63022
78-79 6302DDU
82-84 6202DDU
84-87 6202DDU
90 6202DDU
78-80 6202DDU
81-83 6202DDU
74 63022
86-89 6302DDU
75 63022
78 6302Z
78-81 63022
75-79 6302DDU
78-80 6302Z
81 6302Z
82-85 6302Z
78-80 6302Z
60042
85-88 6302DDU
83-86 6302Z
89-92 6004DDU
91-99 6003DDU
89-92 63022
13 6303DDU
71-73 6302Z
75-77 6302Z
94-98 6302DDU
99-00 6302DDU
99-00 6302DDU
01-03 6302DDU

13 6303DDU
13 6303DDU
78-84 63022
81-84 6302Z
82-84 63022
82-83 63022
82-85 630222
82-84 6302Z
62022

telephone: 0114 2462027 |

6204DDU
6204DDU
6204DDU
6204DDU
6204DDU

6004DDU
6004DDU

6022DDU

6204DDU

6204DDU

6204DDU

6222DDU
6204DDU
6204DDU

6204DDU
6304DDU
63052

6204DDU
6204DDU
6204DDU
6204DDU
6322

6304DDU
6304DDU

62042

6204DDU

ReAR WHEEL

LeFT

63012
63042
63042
6304Z
63042
6304Z
63032
63042
63022
6302DDU
6203DDU
6203Z
6203DDU
6203DDU
6203DDU
63032
63022
63042
6303DDU

63042
6202DDU
6202DDU

6222DDU
6222DDU
6222DDU
63022
6304DDU
6203DDU
6203DDU
6203DDU
6303DDU
6303DDU
63042
6303DDU
63042
63042
63042
6304DDU
63042
63042
63042
63042
60042
6203DDU
6303DDU

6204DDU
63032

6303DDU
6304DDU
6305DDU
6303DDU
6303DDU
6303DDU
6303DDU
6204DDU
6303DDU
6303DDU
6302DDU
6302DDU
6303DDU
6303DDU
6303DDU
6302DDU
6203DDU

RIGHT

63022
63032
63032
63032
63032
61032
6103Z
63032
63022
6302DDU
6203DDU
62032
6203DDU
6303DDU
6303DDU
62032
63022
63032
62032
63032z
6303
63032
6302DDU
6302DDU
63032
6022DDU
6022DDU
6022DDU
63022
6204DDU
6203DDU
6203DDU
6203DDU
6203DDU
6203DDU
63032
6203DDU
63032
63032
6303DDU
6303DDU
63032
63032
63032
6303DDU
60042
6203DDU
6303DDU

6203DDU
63032

6303DDU
6304DDU
6304DDU
6303DDU
6303DDU
6303DDU
6303DDU
6204DDU
6303DDU
6303DDU
6302DDU
6302DDU
6303DDU
6303DDU
6303DDU
6302DDU
6203DDU

Fax: 0114 2454232

MAKE & MODEL

VF500F2E

VF500F2F
VT500ED/EF Eurosport
XBR500F/G

XBR500H

XBR500SJ

XL500SA

XL500SB

XL500RC
CB550K3/F1/2
CBX550FC/FD
CBX550F2C/F2D
CB60OF Hornet
CB600F

CBF600

CBR600FH/F)
CBR600FK/FL
CBR600OFM-FT
CBR600OFV/FW
CBR600OFX/FY
CBR600F1,2,3,4,5,6
CBR600RR3 - RR6
CBR600RR7-RR9,RRA-RRD
FSC600A / D
NTV600J/K/L/M
Transalp 600VH - VR
Transalp 600VT - VX
VT600CN/CP
VT600C / CD

XL60ORD

XL600LMF
XL600VH-VW TRANSALP
CB650Z (S.0.H.C.)
CB6505CC (S.0.H.C.)
CB650SC (D.0.H.C.)
CX650ED Eurosport
CX650TC-D Turbo
FMX650

FX650X Vigor
GL650D2D Silver Wing
NT650V Deauville
NTV650M-T
NX650J-Y2 Dominator
SLR650

XR650L

XR650R

XL650 Transalp
NC700X

NC700XD

NSA700A

NT700V - 6

NT700V / ABS
CB750FA/FB (D.0.H.C.)
CB750FC/F2C (D.O.H.C.)
CB750FD/F2D (D.0.H.C.)
CB750FZ (D.0.H.C.)
CB750F/F1 (S.0.H.C.)
CB750F2 (S.0.H.C.)
CB750F2N-Y,1- RETRO
CB750KZ (D.0.H.C.)
CB750K1/2 (S.0.H.C.)
CB750K3/4 (S.0.H.C.)
CB750K5 (S.0.H.C.)
CB750K6 (S.0.H.C.)
CB750K7 (S.0.H.C.)
CBX750FE
VF750CH/CJ Custom
VF750C

WHEEL BEARINGS APPLICATION GUIDE

FRONT
YEAR L/H & R/H

84 6302DDU
85-87 6302DDU
83-88 6302Z
85-86 6302DDU
87-88 6302DDU

89 6302DDU

80 6202DDU

81 6202DDU
82-84 6202Z
77-80 6302Z
82-87 6302Z
82-87 63022

98> 6004Z
03-06 20x45x12

87-88 6004Z
89-90 6004Z
91-96 6004Z
97-98 6004Z
99-00 6204DDU
01-07 20x45x12
03-06 22X47X14
07-13 6004DDU
09-12 6004DDU
88-92 60042
6202DDU
6202DDU
92-96 6004DDU
03-07 6004DDU
84-86 6202Z
85-86 6202DDU
87-99 6202DDU
78-81 6302DDU
82-84 6302DDU
83-84 6302DDU
83-86 6302DDU
83-86 6302DDU
05-06
6202
84-86 6302DDU
98-04 6202Z
92-96 6004DDU
88-02 6202Z
62022
12-13 6003DDU
00-02 6003DDU
00-04 6203DDU
12-13 6204DDU
12-13 6204DDU
6204DDU
06 6204DDU
10-11 6204DDU
80-82 6302DDU
82-85 6302DDU
82-85 6302DDU
79 6302DDU
76-77 6302DDU
78 6302DDU
92-02 6004z
79-82 6302DDU
70-72 6302Z
73-74 63022
75 63022
76-77 6302DDU
78 6302DDU
84-86 6302DDU
87-89 6302DDU
03 6204DDU

SPOCKET REAR WHEEL
CARRIER LEFT RIGHT
6204DDU 6303DDU 6303DDU
6204DDU 6303DDU 6303DDU
6303DDU 62032
6204z 6303DDU  6203DDU
62042 6303DDU  6203DDU
62042 6303DDU  6203DDU
6303DDU 6203DDU
6303DDU  6203DDU
62042 62032 62032
63052 63042 63042
62042 63032 63032
62042 63032 63032
62222 6303DDU 6303DDU
6322 6303DDU  6303DDU
6322 6204DDU  6204DDU
6204DDU 6303DDU 6303DDU
6204DDU 6303DDU 6303DDU
6222 6204DDU  6204DDU
6322 6204DDU  6204DDU
6322 6204DDU  6204DDU
27x52x23.8 6204DDU 6204DDU
6028DDUx2 6005DDU  6205DDU
6028DDUx2 6005DDU  6205DDU
62042 6203DDU  6203DDU
63042 6203DDU 63032
6204DDU 63032 63032
6204DDU  6303DDU 6303DDU
62042 62032 62032
6204DDU 62032 62032
6204DDU 6203DDU 6203DDU
6305DDU  6304DDU  6304DDU
6305DDU  6304DDU  6304DDU
6305DDU  6304DDU  6304DDU
6303DDU 6303DDU
6303DDU  6303DDU
6204DDU 6203DDU 6203DDU
62042 62032 62032
6303DDU  6303DDU
62042
62042 6203DDU 6203DDU
62042 62032 62032
6303DDU 6203DDU
6204DDU  6004DDU
6304DDU 6203DDU 6303DDU
20X50X15 6204DDU 6204DDU
20X50X15 6204DDU 6204DDU
6204DDU
6204DDU
6305DDU  6304DDU  6304DDU
6305DDU  6304DDU  6304DDU
6305DDU  6304DDU  6404DDU
6305DDU  6304DDU  6304DDU
63052 6304Z 63042
63052 63042 63042
6204DDU  6303DDU 6303DDU
6305DDU  6304DDU  6304DDU
63052 63042 63042
63052 63042 63042
63052 63042 63042
63052 63042 63042
63052 63042 63042
6305DDU  6204DDU  6304DDU
6204DDU  6204DDU
6305DDU  6304DDU  6204DDU



MAKE & MODEL

VF750FD

VF750SC Sports
VFR750FG
VFR750FH/FI/FL
VFR750FL/FM
VFR750FN/FP
VFR750FR-FV
VFR750RJ/RK/RL (RC30)
VT750C Shadow

VT750C

VT750CA

VT750DCY-DC2
VT750CDA/B/C/D
VT750C2

VT750C2F

VT750DCA / B

VT750RS

XRV750L-Y2 A/TWIN
VFR80OFI-W,X,Y
VFR800FI-1,2,3,4,5,6,7,8,9
VFR800FI-2,3,4,5,6,7,8,9 ABS
CB900FZ (D.O.H.C.)
CBYOOFA (D.0.H.C.)
CB900FB (D.O.H.C.)
CB900FC/F2C (D.O.H.C.)
CB900FD/F2D (D.0.H.C.)
CB900 F2-F7 Hornet
CBRIOORRN-RRS Fireblade
CBR90ORRT/RRV Fireblade
CBR9OORRW-RRX
CBR90ORRY / RR1-RR3
CB1000FP

CB1000P-T BIG ONE
CB1000R

CBF1000

CBR1000FH/F)
CBR1000FK-FX
CBR1000RA
CBR1000RR4-RR7 F/Blade
CBR1000RRS,9 / A-D F/Blade
CBX1000Z/A Twin Shock
CBX1000B/C Mono Shock
GL1000KZ Gold Wing
VF1000FE/FF/F2F
VTR1000F FIRESTORM
VTR1000 SP1 - 2
VF1000RE/RF

XL1000V Varadero
XL1000V / ABS Varadero
CB1100/ A

CB1100RB-D
CBR1100XXV-XXW Blackbird
CBR1100XXX-XXY,1-3 Blackbird
CBR1100 XX4-XX6
GL1100AD Gold Wing
GL1100DXB/DXC G/Wing
GL1100KA/B/C G/Wing
CB1100RB/RC/RD

ST1100 Pan European
ST1100 Pan European
VT1100C

VT1100C2
GL1200AE/AF/AG/AH
GL1200DE/DG G/Wing
VFR1200F / FD

CB1300

ST1300/ABS

VT1300C

FRONT
YEAR L/H & R/H

83-86 6302DDU
82-84 6302DDU
86 6004DDU
87-89 6004DDU
90-91 6004DDU
92-93 6004DDU
94-97 6004DDU
88-92 6004DDU
6204DDU
04-13 6204DDU
04-13 6204DDU
62042
03 6204DDU
07-09 6204DDU
07-09 6204DDU
03> 6204DDU
10 6204DDU
90-03 6203DDU
6204DDU
01-09 6204DDU
02-09 6204DDU
79 6302DDU
80 6302DDU
81 6302DDU
82 6302DDU
83-86 6302DDU
02-07
92-95 6004DDU
96-97 6004DDU
98-99 6204DDU
00-03 6005DDU
93 60042
93-96 6004DDU
11-13 20x45x12
06
87-88 6004DDU
89-96 600422
10-13 6005DDU
04-07 6005DDU
08-13 6005DDU
78-80 6302DDU
81-84 6302DDU
75-80 6302Z
84-88 6302DDU
97-06 6004DDU
00-06 22x47x14
84-88 6302DDU
99-00 6204DDU
01-06 6204DDU
13 20x45x12
82-84 6302DDU
6004DDU
99-03 6204DDU
04-06 6204DDU
83 6302DDU
81-84 6302DDU
80-85 6302DDU
81-83 6302DDU
89-99 6004DDU
03 6204DDU
03-07 6204DDU
03-07 6204DDU
84-88 6302DDU
84-87 6302DDU
10-13 6205DDU
03-05
03-13 6205DDU
10-13 6304DDU

WHEEL BEARINGS APPLICATION GUIDE

SPOCKET
CARRIER

6305DDU

6305DDU
6305DDU
6907
6907

6222

6222
6222

6222
6222
6204DDU
6907
6907
6907
6305DDU
6305DDU
6305DDU
6305DDU
6305DDU
6322DDU
6222
6322
6322
27x52x23.8
6305DDU
6305DDU

6322
63052
63052
28x56x15
6028DDUx2
28x56x15
6305DDU
6305DDU

6305DDU
6322DDU
27x52x23.8
6305DDU
6305DDU
6305DDU
6328DDU
6305DDU
6305DDU
6305DDU
6305DDU

6305DDU

6328

REAR WHEEL

LEFT

6304DDU
6303DDU
6304DDU
6304DDU
6908
6908

6908
62042

6204DDU
6204DDU

6204DDU
6204DDU
6303DDU
6908LU
6908LU
6908LU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6204DDU
6204DDU
6204DDU
6204DDU
6005DDU
6304DDU
6304DDU
6908LU
6204DDU
620422
63042z
6005DDU
6005DDU
6005DDU
6304DDU
6304DDU
63042
6204Z
6204DDU
6005DDU
6205DDU
6204DDU
6204DDU
6005DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6204DDU
6204DDU
6204DDU

6304DDU
6304DDU

6205DDU

6905DDUx2 6204DDU
6905DDUx2 6028DDUx2 6205DDU

RIGHT

6304DDU
6303DDU
6204DDU
6204DDU

62042

6204DDU
6204DDU
6204DDU
6204DDU
6204DDU
6204DDU
6204DDU
6204DDU
6203DDU

6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6204DDU
6204DDU
6204DDU
6204DDU
6205DDU
6304DDU
6304DDU
6907DDU
6204DDU
630422
630422
6205DDU
6205DDU
6205DDU
6304DDU
6304DDU
62042
6304DDU
6204DDU
6205DDU
62042
6304DDU
6304DDU
6205DDU
6304DDU
6304DDU
6304DDU
6304DDU
6204DDU
6204DDU
6204DDU
6304DDU
0.E.M.

6204DDU
6204DDU
6204DDU
6204DDU

6205DDU
20x47x20.6

MAKE & MODEL

VTX1300C

VTX1300S
GL1500J/K/L/SEM/SEN
GL1500C / CD

GL1800

GL1800A

VTX1800

VTX1800C

VTX1800R

HONDA (OFF ROAD)
CRS0RD/RE/RF
CRF50F
QRSO0E/F/M
TLM50F

XR50R
Z50RZ/RA-RF
CR60RD/RE/RF/RG
ATC70 (All Models)
CRF70F

XR70R

XR75K4

XR75K5
CR8ORA/RB/RC
CR8ORD

CR80RE

CR80RF

CR80R2F

CR80RG

CR80R2G

CR80RH

CR80RJ

CR80RK

CR80RL

CR80RM
CR80RN-RT
CR80RV-RY / R1/R2
CRF80F
XR80Z/A/B
XR80RJ/RH

XR80R
CR85R3,4,5,6,7
CR85RB3,4,5,6,7
EZ90M CUB
TRX90

CRF100F

XR100R

ATC110 (All Models)
CRF110

ATC125 ME/MF
ATC125MG/MH
CR125M2/3/4
CR125RZ/RA
CR125RB
CR125RC
CR125RD
CR125RE

CR125RF
CR125RG
CR125RH

CR125RJ

CR125RK
CR125RL
CR125RM
CR125RN/RP/RR
CR125RS-RX
CR125RY / R1/R2/R3
CR125R4,5,6,7
TRX125H/J

web: www.staniforths.co.uk |

FRONT
YEAR L/H & R/H

03-09 6304DDU
03-07 6304DDU
88-82 6004Z
03 6204DDU
01-12 6004DDU
03-05 6004DDU
02> 6304DDU
03> 6304DDU
03> 6304DDU

83-85 62012
04-13 6201DDU
82-95 62002
85 62012
03 6201DDU
79-85 62012
83-86 62012
78-85 62022
04-12 6201DDU
03 6201DDU
75-79 63012
79 63012
80-82 63012
83 62012
84 62012
85 62012
85 62022
86 62012
86 62022
87 62012
88 62012
89 62012
90 62012
91 62012
92-96 6201Z
97-02 6201DDU
04-13 6201DDU
79-81 6301Z
88-92 63012
03 6201DDU
03-07 6201DDU
03-07 6201DDU
92 62012
94-95 6003DDUx2
04-13 6201DDU
03 6201DDU
79-84 630222
13 6201DDU
84-85 630222
86-87 630272
76-78 63012
79-80 62022
81 62022
82 62022
83 62022
84 62022
85 60032
86 60032
87 60032
88 60032
89 60032
90 60032
91 60032
92-94 60032
95-99 6904DDU
00-03 6904DDU
04-07 6904DDU
87-88 6003 x4

SPOCKET
CARRIER

6905DDUx2
6905DDUx2

6905DDUx2
6905DDUx2
6905DDUx2

REAR WHEEL
LeFT RIGHT
6304DDU
6304DDU
6204DDU
6204DDU  20x47x20.6
6304DDU
6304DDU
6304DDU
63012 62012
6201DDU  6201DDU
63012 62012
6201DDU  6201DDU
62012 62012
63012 62012
6006 6006
6301DDU  6201DDU
6301DDU  6201DDU
63012 63012
63012 63012
63012 63012
63012 63012
63012 62012
63012 62012
60022 62022
60022 62022
60022 62022
60022 62022
60022 62022
60022 62022
60022 62022
6002DDU  6202DDU
6301DDU  6201DDU
63012 63012
63012 63012
6301DDU  6201DDU
6202DDU  6002DDU
6202DDU  6002DDU
62012 62012
6301DDU  6201DDU
6301DDU  6201DDU
6301DDU  6201DDU
63022 63022
62032 62032
62032 62032
62032 62032
60042 60042
60042 60042
60042 60042
60042 60042
6204DDU  6004DDU
6204DDU  6004DDU
6204DDU  6004DDU
6004DDUx2 6004DDU
6004DDUx2 6004DDU
6004DDUx2 6004DDU
6004DDUx2 6004DDU
6905DDUx2 6905DDU
6905DDUx2 6905DDU

Email: sales@staniforths.co.uk

420

BEARINGS




%)
O
=
oc
<T
i
(aa]

MAKE & MODEL

CRF150F3-9/A.B.C,D
CRF150R7,8,9./A.B.C.D
CRF150RB7,8,9/A.B.C.D
ATC1855Z/SA/SB/SC
ATC200B/ESE/ESF/SE
ATC200ED (Disc)
ATC200XD (Disc)
TL200J/Y

TLR200D/E
TLR200G/H
XR200RA/RB/RC/RD/RE
CRF230F3-9/A.B.C,D
CRF230L

CRF230M

ATC250RB
ATC250RC/RD
ATC250RF/RG
ATC250ESF/ESG/ESH/ES)
CR250RZ

CR250RA

CR250RB

CR250RC

CR250RD

CR250RE

CR250RF

CR250RG

CR250RH

CR250R!

CR250RK

CR250RL

CR250RM
CR250RN-RR
CR250RS-RX
CR250RY / R1/R2/R3
CR250R4,5,6,7
CRF250L

CRF250R

CRF250X
RTL250SF/SG/SH
TL250K1

TLM250R)
TLR250RF/RG/RH
TRX250F/G/H
TRX250RG/RH/RI/RK
XR250SZ/SA
XR250RB

XR250RE

XR250RF
XR250RG/RH
XR250RI/RK/RL
XR250RN/RP
XR250R3,4
TRX300FWJ - L/H
TRX300FWJ - R/H
TRX350G/H/J/K/L
XR350RD

XR350RE

FLAOOR Pilot - L/H
FLAOOR Pilot - R/H
XRA400R

CRA450RB
CRF400R2/R3
CRE F 450 R
CRF450R3,4,5,6,7,8,9/A,8,C,D
CRF450X

CRA48ORC

CR480RD

CRS00RE

421

telephone: 0114 2462027 |

WHEEL BEARINGS APPLICATION GUIDE

FRONT SPOCKET
YEAR L/H & R/H CARRIER

03-13 6202DDU
07-13 6002DDU
07-13 6002DDU
79-82 63022
81-84 6302Z
83 63022
84 63022
76-78 6301Z
83-84 62012
85-86 62012
80-84 62022
03-13 6202DDU
08-09 6202DDU
09 6202DDU
81 63022
82-83 6302Z
85-86 6302DDU
85-83 6302DDU
79 62022
80 62022
81 62022
82 62022
83 62022
84 62022
85 60032
86 6003Z
87 6003Z
88 6003Z
89 60032
90 6003Z
91 6003z
92-94 6003Z
95-99 6904DDU
00-03 6904DDU
04-07 6904DDU
13 6202DDU
04-13 6904DDU
04-13 6904DDU
85-87 6202Z
79 6301Z
89 62022
85-87 62012
85-87 6004DDU
86-89 6004DDU
79-80 62012
81 6202z
84 62022
85 6202Z
86-87 62022
88-91 62022
92-93 62022
03-04 6202DDU
88-90 6202
88-90 6004Z
86-92
83 62022
84 62022
89-90 6022 x2
89-90 6004 x2
96-04 6003DDU
81 6202z
02-03 6005DDU
05-10 6904DDU
03-13 6904DDU
05-13 6904DDU
82 62022
83 6202Z
84 62022

ReAR WHEEL

LeFT RIGHT
6303DDU  6203DDU
6003DDUx2 6003DDU
6003DDUx2 6003DDU
60072 60072
60072 60072
60072 60072
60072 60072
63022 63022
63012 62012
63012 62012
63032 62032
6303DDU  6203DDU
6303DDU  6203DDU
6303DDU  6203DDU
60072
60072
63042 62042
63042 62042
63042 62042
62042 60042
6004Z 60042
60042 60042
60042 60042
6004Z x2 60042

6004DDU  6204DDU
6004DDU  6204DDU

60042

6004DDUx2 6004DDU
6004DDUx2 6004DDU
6004DDUx2 6004DDU
6004DDUx2 6004DDU
6905DDUx2 6905DDU
6905DDUx2 6905DDU
6303DDU  6303DDU
6905DDUx2 6905DDU
6905DDUx2 6905DDU
62042 62032
63022 6302z
62042 62032
63022 62022
6228 6228
63032 62032
63032 62032
63032 62032
63032 62032
62042 62032
62042 62032
62042 62032
6303DDU  6203DDU
63032 62032
6303Z 62032

6303DDU  6203DDU
6204z 6304Z
6905DDUx2 6905DDU
6905DDU  6905DDU
6905DDUx2 6905DDU
6905DDUx2 6905DDU
60042 60042
60042 60042
60042 60042

Fax: 0114 2454232

MAKE & MODEL

CR500RF
CR500RG
CR500RH
CR500RJ
CR500RK
CR500RL
CR500RM
CR500RN-RR
CR500RS-RY / R1
XR500SZ/SA
XR500RB
XR600RE/RF/RG/RH
XR600RJ/RK/RL
XR600RM-RT
XR650L

XR650R

KAWASAKI
AE50/80A1/2/B1 - L/H
AE50/80A1/2/B1 - R/H
AR50/80A1/C1-C10 - L/H
AR50/80A1/C1-C10 - R/H
KC100C1-C4 - L/H
KC100C1-C4 - R/H
KE100A7-A10/B1-B11 - L/H
KE100A7-A10/B1-B11 - R/H
KH100A2-A4/G2-3
KH100G4-G8 (EX)
KM100A4/A5/A6 - L/H
KM100A4/A5/A6 - R/H
KLX110A2-A4 L/H
KLX110A2-A4 R/H
KLX110A6F - A9F L/H
KLX110A6F - ASF R/H
KLX110CAF-CDF L/H
KLX110CAF-CDF R/H
KLX110DAF-DDF L/H
KLX110DAF-DDF R/H
AR125A1-A8/B1-B8
BN125A6-A8
BN125A6F/A7F
KDX125A1-A2/B1-B2
KE125A4-A12 - L/H
KE125A4-A12 - R/H
KH125A1-A4 - L/H
KH125A1-A4 - R/H
KH125K1-K6 - L/H
KH125K1-K6 - R/H
KH125L1 - L/H

KH125L1 - R/H
KMX125A1-A7/B1-B12 - L/H
KMX125A1-A7/B1-B12 - R/H
KLX140A8F - ADF L/H
KLX140A8F - ADF R/H
KLX140B8F - BDF L/H
KLX140B8F - BDF R/H
KE175B1-B4 - L/H
KE175B1-B4 - R/H
KE175D1-D5

KMX200 - L/H

KMX200 - R/H

Z200A1-6

250S1B 3 Cylinder
EL250D4-5

EL250F - EL252
ER250B1/2/3 Scorpion
GPX250R (EX250F2/F3)
EX250H (ZZR)

EX250F17 - F19 (Ninja 250R)

FRONT

SPOCKET

YeAR L/H & R/H CARRIER

85 6003Z
86 6003Z
87 6003Z
88 6003Z
89 6003Z
90 6003Z
91 6003Z
92-94 6003Z
95-02 6904DDU
79-80 6202Z
81 62022
84-87 62022
88-90 62022
91-96 6202Z
03-09 6003DDU
00-07 6003DDU

82-87 63012
82-87 62012
81-93 6301Z
81-93 6201Z
79-86 6300Z
79-86 6200Z
78-93 6300Z
78-93 6200Z
78-82 63012
84-92 6301Z
78-82 6300Z
78-82 62002
03-05 6200DDU
03-05 6300DDU
06-09 6200DDU
06-09 6300DDU
10-13 6200DDU
10-13 6300DDU
10-13 6200DDU
10-13 6300DDU
82-94 62012
03-05 6202DDU
06-07 6202DDU
90-94 6202DDU
76-88 63012
76-88 62012
77-80 63012
77-80 62012
82-93 63012
82-93 62012
83-86 63012
83-86 62012
86-02 6202Z
86-02 62012
08-13 6301DDU
08-13 6201DDU
08-13 6301DDU
08-13 6201DDU
76-78 6301Z
76-78 62012
79-83 6301Z
88-92 6203Z
88-92 62022
77-83 6202Z
75 6203Z
93-96 6302DDU
6302Z
83-90 62022
88-96 6202Z
62022
03-05 6202DDU

62032

62032

62032

62032

6004DDU

6004DDU

6004DDU

6004DDU

60042

6004DDU

6004DDU

60042

6004z

6004z

6004z

60042

60042

60042
62052
6205DDU
62052
62052
62052
62052
6205DDU

REAR WHEEL
LEFT RIGHT
60042 60042
60042 60042
620422 60042
620422 60042
60042
6004Z x2 60042
6004Z x2 60042
6004Z x2 60042
6004DDUx2 6004DDU
63032 62032
63032 62032
62042 62032
62042 62032
62042 62032
6303DDU 6203DDU
6204DDU  6004DDU
63012 63012
63012 63012
62012 63012
62012 63012
62012 63012
62012 63012
63012 63012
62012 6301DDU
62012 6301DDU
62012 6301DDU
62012 6301DDU
62022 63022
6202DDU  6302DDU
6202DDU  6302DDU
6004DDU  6004DDU
62022 62022
62022 62022
62022 63022
62022 62022
63022 63022
6202DDUx2 6202DDU
6202DDUx2 6202DDU
62022 62022
62022 62022
63022 63022
62022 63022
63032 63032
620322 630322
630322 630327
620322 630322
620322 630322

6203DDU  6303DDU



MAKE & MODEL

EX250F6F/F7F (Ninja 250R)
EX250J8F/J9F (Ninja 250R)
EX250JAF/JBF/JCF (Ninja 250R)
EX250JCFA (Ninja 250R)
KH250 3 Cylinder
KL250A1-A2 - L/H
KL250A1-A2 - R/H
KL250A3-A4/C1-C2
KLR250D2-16  L/H
KLR250D2-16  R/H
KLR250D20 - D22
KLR250D20 - D22
KLX250D1-2
KLX250S T9F/TAF-TDF
KLX250SF WOF/WAF

KR1 (KR250B2)

KR1-S (KR250C2/3)
7250A1/2/3 Twin

Z250B1/2 Twin

7250C1/2 Single

7250G1/2 Single

ZZR250 (EX250H1/2)
EX300 ADF (Ninja R)
EX300 ADFA (Ninja R)
KLX300A8 - A10
KLX300A6F/A7F
GPZ305A1/B1/3/4/5/8
KH400A3/4/5 3 Cylinder
7400812

Z400D3/4

Z400F (ZR400A1/B1)
Z400F2 (ZX400C2)

7400G1

2400J1

Z400J2/3

ZXR400L1-9
Z440A2/C1/C2

Z440D4/56 LTD

Z440H1/2

EN450A1-5

KLX450R A8F/ASF
EN500A1/A3
EN500B1-2/C1-2

EN500CS - C10 (Vulcan Ltd)
EN500C6F - C9F (Vulcan Ltd)
ER500A1-A4/C1

ER-5

GPZ500S (EX500A1-6)
GPZ500S D1-7/E1-8
GPZ500S D10 - D12
GPZ500S D6F - D9F
GPZ500S E9-E10

H1 D/E/F 3 Cylinder
KH500 3 Cylinder
KLE500A1-7 L/H
KLES00A1-7 R/H
7500812

GPZ550D1 (Z550D)
GPZ550H (Z550H1/2)
GPZ550A (ZX550A1-4)
GT550G1-9

Z550A1/A2/3

7550C1/2 LTD

Z550F (ZR550A1/2)
ZR550B2-6 ZEPHYR
GPX600R C1-7

GPZ600R (ZX600A1-5)
KLR600 (KL600A/B1-4) - L/H

L/H
R/H

WHEEL BEARINGS APPLICATION GUIDE

FRONT
YEAR L/H & R/H

06-07 6202DDU
08-09 6202DDU
10-12 6202DDU
12 6202DDU
77-83 6203Z
78-79 63022
78-79 63022
80-85 63012
84-00 6302Z
84-00 62022
03-05 6203DDU
6202DDU
93-94 6202DDU
09-13 6202DDU
09-10 6202DDU
89-90 6202DDU
90-92 6203z
78-81 6202Z
80-83 6302Z
81-83 6302Z
80-84 6302Z
90-93 62022
13 6202DDU
13 6202DDU
03-05 6202DDU
06-07 6202DDU
83-96 6202Z
76-78 6203Z
78-79 6203Z
75-76 63022
83-85 6302Z
85-88 6302Z
79-81 6202Z
80 63022
81-83 6302Z
91-02 6004DDU
79-81 6202Z
82-85 6302Z
82-84 6302Z
85-90 6302Z
08-09 6904DDU
90-93 63022
94-98 6302DDU
03-05 6302DDU
06-09 6302DDU
97-04 6202722
01-02 6202DDU
87-93 62022
94-03 6202DDU
03-05 6202DDU
06-09 6202DDU
620272
73-75 6203Z
76 6303Z
91-99 62032
91-99 6202Z
79-80 6302Z
81 6302Z
82-84 63022
83-90 6302Z
83-00 63022
80-83 6302Z
80-83 63022
82-88 6302Z
91-97 6302Z
88-94 6302Z
84-90 6302Z
84-90 62032

SPOCKET
CARRIER

6205DDU
6205DDU
6205DDU
6205DDU
62052
62052

60042
60042

6004DDU

6004DDU
6004DDU
62052
62052
60042
60042
62052
6205DDU
6205DDU

62052
62052
62052
62052
62052
62052
62052
63052
63052
62052
62052
62052
62052
62052

62052
6205DDU
6205DDU
6205DDU
6205DDU
6205
62052
6205DDU
6205DDU
6205DDU
62052
63052
63052
60042

62052
62052
62052
62052

63052
62052
62052
62052
62052
62052
60042

REAR WHEEL
LEFT RIGHT
6203DDU  6303DDU
6203DDU 6303DDU
6203DDU  6303DDU
6203DDU  6303DDU
63032 63032
63032 63032
62022 62022
60032 6003Z x2
6003DDU  6003DDU x2
6004DDU  6004DDU
6004DDU  6004DDU
6004DDU  6004DDU
6203DDU  6203DDU
6203DDU 6203DDU
63032 63032
63032 63032
62022 63022
62022 63022
6203DDU 6303DDU
6203DDU  6303DDU
6203DDU 6303DDU
6004DDU  6004DDU
6004DDU  6004DDU
630322 63032z
63032 63032
63032 63032
63032 63032
62032 63032
62032 63032
63032 63032
630322 630322
630322 630327
620422 620427
63032 63032
63032 63032
63032 63032
630322 630322
6905DDUx2 6905DDU
630322 63032z
6303DDU  6303DDU
6303DDU 6303DDU
6203DDU  6303DDU
630322 630327
6203DDU 6303DDU
6203DDU  6303DDU
6203DDU 6303DDU
620322 620327
63032 62052
63032 62052
60032 62042
63032 63032
630322 630327
630322 63032z
620322 630327
63032 63032
630322 630327
630322 630327
620322 630322
630322 630327
630322 630322
630322 630327
60032 60032

web: www.staniforths.co.uk |

MAKE & MODEL

KLR600 (KL600A/B1-4) - R/H
ZL/EL600 ELIMINATOR
ZX6-R F1-3

ZX6-R G-J/A1

ZX-6R B1/B2 (ZX636)
ZX-6R C1 (ZX636)

ZX-6R C6F (ZX636)

ZX-6R D6F (ZX636)

ZX-6R EDF (ZX636)

ZX-6R FDF ABS (ZX636)
ZX-6R P7F/P8F (ZX600)
ZX-6R R9F (ZX600)

ZX-6R RAF/RBF/RCF (ZX600)
ZX-6RR K1 (2X600)
ZX-6RR M1 (ZX600)
ZX-6RR N1 (ZX600)
ZX-6RR N6F (2X600)
ZX600 K1H/M1H

ZZR600 (ZX600D1-3)
ZZR600 E1-10

ZZR600 J4/J6F - J8F

EJ650 - W650

ER 6N COF/CAF

EX650 A6F - A8F (Ninja 650 R)
EX650 C9F (Ninja 650 R)
EX650 CAF/CBF (Ninja 650 R)
EX650 ECF (Ninja 650 R)
EX650 EDS (Ninja 650 R)
KLR650 (KL650A1-3) - L/H
KLR650 (KL650A1-3) - R/H
KLR650A17 - A19  L/H
KLR650A17 - A19  R/H
KLR650A6F/A7F  L/H
KLR650A6F/A7F  R/H
KLR650E8F/E9F  L/H
KLR650E8F/E9F  R/H
KLR650EAF-EDF  L/H
KLR650EAF-EDF R/H
KLX650C1

Tengai 650 (KL650B1-3) - L/H
Tengai 650 (KL650B1-3) - R/H
Versys 650 A7F - AS9F
Versys 650 CAF - CDF
7650B1-3

7650C1-C3

7650D1-3

Z650F1

Z650F2/3/4

7650 (SR650)

GPX750R (ZX750F1-3)
GPZ750A (ZX750A1-5)
GPZ750 Turbo (ZX750E)
GPZ750R1 (Z750R1)
GPZ750R (2X750G2/3)
GT750P1-10
VN750A2/3/4/5 Twin
VN750A19 - A21
VN750A6F

Z 750 L7F - LAF

7750 S K1/K6F
Z750B1/2/D1 Twin
Z750E1

Z750H1/2 LTD

Z750L1-4

Z750Y1 LTD Twin

ZR750 ZEPHYR
ZR-7/ZR-7S

ZR7S H1-H3

FRONT
YEAR L/H & R/H

84-90 6202Z
95-97 6004DDU
95-97 6004DDU
98-02 6005DDU
03-04 6005DDU
05 6005DDU
06 6005DDU
06 6005DDU
13 6005DDU
13 6005DDU
07-08 6005DDU
09 6005DDU
10-12 6005DDU
03 6005DDU
04 6005DDU
05 6005DDU
06 6005DDU
6005DDU
90-92 6203DDU
93-04 6004DDU
05-08 6005DDU
99-04 6202Z
09-10 6004DDU
06-08 6004DDU
09 6004DDU
10-11 6004DDU
12 6004DDU
13 6004DDU
87-90 6203Z
87-90 62022
03-05 6203DDU
03-05 6202DDU
06-07 6203DDU
06-07 6202DDU
08-09 6203DDU
08-09 6202DDU
10-13 6203DDU
10-13 6202DDU
93-96 6202DDU
89-92 62032
89-92 62022
07-09 6004DDU
10-13 6004DDU
77-81 6203Z
76-78 62032
78-80 6203Z
80 62032
81-85 6302Z
80-82 6203Z
87-91 63022
83-89 6302Z
83-87 6302Z
82 63022
84-88 6302Z
82-98 63022
85-90 6302Z
03-05 6302DDU
06 6302DDU
07-10 6004DDU
05-06 6004DDU
76-78 6203Z
80 6302Z
80-83 63022
80-87 6302Z
82 6302Z
92-97 6203DDU
99-03 6203DDU
6203DDU

SPOCKET
CARRIER

6205DDU
6205DDU
6006DDU
6006DDU
6006DDU
6006DDU
6006DDU
6006DDU
6006DDU
6006DDU
6006DDU
6006DDU
6006DDU
6006DDU
6006DDU
6006DDU
6006DDU
62052

6205Z

6006DDU
6205Z

6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
60042

6004DDU

6004DDU

6004DDU

6004DDU

6005DDU
6004DDU

6205DDU
6205DDU
6305Z
6206Z
6206Z
6305Z
6206Z
6305Z

6206Z
6206Z
6206Z
6206Z

6205DDU
6205DDU
6206Z
6206Z
6206Z
6206Z
6206Z
6205Z
6205Z
6205Z

REAR WHEEL

LeFT

6204DDU
6204DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
63032
620427
6205DDU
6303DDU
6204DDU
6204DDU
6204DDU
6204DDU
6204DDU
6204DDU
60032

6003DDU

6003DDU

6003DDU

6003DDU

60032

6204DDU
6204DDU
63032
62052
63032
63032z
63032z
63032
6204DDU
630322
630322
630322
630322
630322
63032z
6303DDU
6303DDU
6204DDU
6204DDU
63042
630322
63032z
630322
63032z
63032z
62042z
6204DDU

Email: sales@staniforths.co.uk

RIGHT

6204DDU
6204DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
630322
620422
6205DDU
6303DDU
6204DDU
6204DDU
6204DDU
6204DDU
6204DDU
6204DDU
62042

6204DDU

6204DDU

6204DDU

6204DDU

6004DDU
6204DDU

6204DDU
6204DDU
63032
620522
63032
630322
63032z
63032
6204DDU
630322
63032z
630322
63032z
63022
63032z
6303DDU
6303DDU
6204DDU
6204DDU
63042
630322
63032z
630322
63032z
630372
620422
6204DDU

422

BEARINGS




%)
O
=
oc
<T
i
(aa]

MAKE & MODEL

ZXR750H (ZX750H1/H2)
ZXR750J/K (ZX750J1/)2/K1)
ZXR750L (ZX750L1)
ZXR750R (ZX750M1)
ZX7-R/RR P1-4/N1
ZX-7R P8

VN800A1-2

VN8OOA9 - A1l

VN800 CLASSIC B1-7
VN8O0OBS - B10 (Classic)
VN800 DRIFTER
VNSOOES3 - E5 (Drifter)
VN8OOE6F (Drifter)
GPZ900R (ZX900A1-6)
GPZ900R (ZX900A7-8)
VN900 B6F - BDF (Classic)
VN900 D6F - DDF (Classic LT)
VN900 C7F - CCF (Custom)
71/71A/718B (900cc)
Z900A4

ZX9-R B1-4

ZX9-R C1-2

ZX9-R E1-2

ZX9-R H1-2

ZX9-R F1P-F2P

ZX-9R F2

GPZ1000RX (ZX1000A1-3)
GTR1000A1-9
Z1000A1-4

71000D1 (Z1R)
Z1000H1/2

Z1000J1-3

Z1000K1 (LTD)

Z1000R2

Z1000ST (E1/2 Shaft)
ZG1000A18 - A20
ZG1000A6F

ZL1000A1 Eliminator
ZR1000 A1 - A3 (Z1000)
ZR1000 A6F (21000)
ZR1000 B7F/BS8F (21000)
ZR1000 DAF - DDF (21000)
ZR1000 DDFA (Z1000)
ZX10 (ZX1000B1-3)
ZX-10R C1/C2

ZX-10R D6F/D7F

ZX-10R E8F/E9F

ZX-10R FAF

ZX-10R JBF/JCF

ZX-10R KCF ABS
GPZ1100A1-3
GPZ1100B1-2
GPZ1100E1-2
Z1100A1/2/3 Shaft
Z1100R1

ZR1100A1 ZEPHYR
Z-R1100 (ZX1100C1-3)
ZZR1100D1-9
2G1200B17

ZRX1200 A1-3/B1-3
ZRX1200 A4

ZX-12R A1-2/B1-2
ZX-12R B3/B4

ZX-12R B6F
ZZR1200C2-C4
Z1300A1-5
7G1300A1/A3

ZG1400 ASF/A9F

423

FRONT
YEAR L/H & R/H

89-90 6204DDU
91-93 6005DDU
93 6005DDU
93 6005DDU
96-02 6005DDU
03 6005DDU
95-96 6302DDU
03-05 6302DDU
96-02 6004DDU
03-05 6004DDU
6004DDU
03-05 6004DDU
06 6004DDU
84-89 6302ZZ
90-93 630222
06-13 6004DDU
06-13 6004DDU
07-12 6004DDU
73-76 62032
77 6203Z
94-97 6005DDU
98-99 6004DDU
00-01 6004DDU
02-03 6004DDU
6005DDU
03 6005DDU
85-89 63022
86-95 6302Z
78-82 6203Z
78 6203Z
74-75 6203Z
81-85 63022
81-83 6302Z
83-84 6302Z
78-81 6203ZZ
03-05 6203DDU
06 6203DDU
87-90 6302DDU
03-05 6005DDU
06 6005DDU
07-08 6005DDU
10-13 6004DDU
13 6004DDU
88-91 63037z
04-05 6004DDU
06-07 6005DDU
08-09 6005DDU
10 6005DDU
11-12 6005DDU
12 6005DDU
83-88 63022
82-83 6302Z
95-98 6203DDU
81-85 6302Z
84-86 63022
92-94 6203DDU
90-93 6204DDU
93-01 6005DDU
03 6302DDU
01-03 6005DDU
04 6005DDU
00-03 6005DDU
04-05 6005DDU
06 6005DDU
03-05 6005DDU
79-83 63032
84-90 6302Z
08-09 6005DDU

telephone: 0114 2462027 |

WHEEL BEARINGS APPLICATION GUIDE

SPOCKET
CARRIER

6205Z
6006Z
6006Z
6006Z
6006DDU
6006DDU
6205DDU
6205DDU
6205DDU
6205DDU
62052
6205DDU
6205DDU
6206Z
6206Z
6205DDU
6205DDU
6205DDU
6206Z
6206Z
6006DDU
6205DDU
6006DDU
6205DDU
6006DDU
6006DDU
6206Z
6302
6206Z
6206Z
6206Z
6206Z
6206Z
6206Z

6006DDU
6006DDU
6006DDU
6205DDU
6205DDU
620622
6205DDU
6205DDU
6205DDU
6205DDU
6006DDU
6006DDU
620622
6206Z

62062
6206Z
62062
6206DDU

6006DDU
6006DDU
6006DDU
6006DDU
6006DDU
6006DDU

ReAR WHEEL

LeFT

6304DDU
62052
62052
62052
6205DDU
6205DDU
6303DDU
6303DDU
6303DDU
6303DDU
6303DDU
6303DDU
6303DDU
630322
630322
6204DDU
6204DDU
6204DDU
63042
63042
6205DDU
6204DDU
6205DDU
6204DDU
6205DDU
6205DDU
63042z
630422
63042
63042
63042
630422
630422
630422
630422
6304DDU
6304DDU
630422
6205DDU
6205DDU
6205DDU
6304DDU
6304DDU
63042z
6204DDU
6204DDU
6204DDU
6204DDU
6205DDU
6205DDU
630422
630422
6304DDU
630422
630422

6304Z

6304DDU
6304DDU
6304DDU
6304DDU
6205DDU
6205DDU
6205DDU
6304DDU
63042

63042

6304DDU

RIGHT

6304DDU
62052
6205Z
62052
6205DDU
6205DDU
6303DDU
6303DDU
6303DDU
6303DDU
6303DDU
6303DDU
6303DDU
63032z
63032
6204DDU
6204DDU
6204DDU
63042
63042
6205DDU
6204DDU
6205DDU
6204DDU
6205DDU
6205DDU
6304zZ
630422
63042
63042
63042
63042z
63042z
63042z
63042z
6304DDU
6304DDU
63042z
6205DDU
6205DDU
6205DDU
6304DDU
6304DDU
6304ZZ
6204DDU
6204DDU
6204DDU
6204DDU
6205DDU
6205DDU
63042z
63042z
6304DDU
63042
63042

63042

6304DDU
6304DDU
6304DDU
6304DDU
6205DDU
6205DDU
6205DDU
6304DDU
63042

63042

6304DDU

Fax: 0114 2454232

MAKE & MODEL

ZG1400 B8F/B9F

ZG1400 CAF/CBF/CCF/CDF
2G1400 DAF

ZX-14R AGF/ATF

ZX-14R C8F/C9F/CAF/CBF
ZX-14R ECF/ECFA/EDF/EDFA
VN1500B2
VN1500C/D/E/G/J/L
VN1500E6/E7 (Classic)
VN1500N4/N6F-N8F (Classic)
VN1500T6F (Classic)
VN1500R3-R5 (Drifter)
VN1500P2 (M Streak)
VN1500L4/L5 (Nomad Fi)
VN1600A1 - A3 (Classic)
VN1600A6F - A8F (Classic)
VN1600E6F (Classic)
VN1600B1/B2 (M Streak)
VN1600B6F - B8F (M Streak)
VN1600F6F (M Streak)
VN1600D6F - D8F (Nomad)
VN1600G6F (Nomad)
VN1700E9F/EAF-EDF (Classic)
VN1700G9F/GAF (Classic LT)
VN1700C9F/CAF-CDF (Nomad)
VN1700A9F/AAF-ADF(Voyager)
VN1700B9F/BAF(Voyager ABS)
VN2000 A1/A2

VN2000 A6F

VN2000 D1 (Ltd)

VN2000 D6F (Ltd)

VN2000 E6F/E7F (Classic)
VN2000 H8F (Classic)
VN2000 F6F/F7F (Classic LT)
VN2000 J8F - JAF (Classic LT)

KAWASAKI (OFF ROAD)
KX60A1-2/B1-19 - L/H
KX60A1-2/B1-19 - R/H
KX65A1-A3 - L/H
KX65A1-A3 - R/H
KX65A4 - A6 L/H
KX65A4 - A6 R/H
KX65A6F - A9F  L/H
KX65A6F - AOF R/H
KX65 ACF L/H

KX65 ACF R/H
KX80E1-3 - L/H
KX80E1-3 - R/H
KX80G1/G2/J2 - L/H
KX80G1/G2/)2 - R/H
KX80L1-L3/R1-R3 - L/H
KX80L1-L3/R1-R3 - R/H
KX80 L/H

KX80 R/H

KX85A1 - A5 L/H
KX85A1 - A5 R/H
KX85A6F - A9F L/H
KX85A6F - AOF R/H
KXS8SAAF/ABF/ACF L/H
KX8SAAF/ABF/ACF R/H
KX100N1/A1-2 - L/H
KX100N1/A1-2 - R/H
KX100B1-6 L/H
KX100B1-6 R/H
KX100D3-D5 L/H
KX100D3-D5 R/H
KX100D6F - D9F L/H
KX100D6F - D9F R/H

FRONT
YEAR L/H & R/H

08-09 6005DDU
10-13 6005DDU
10 6005DDU
06-07 6005DDU
08-11 6005DDU
12-13 6005DDU
88-90 6302Z
94-02 6302DDU
03-04 6004DDU
05-08 6004DDU
06 6004DDU
03-05 6004DDU
03 6004DDU
03-04 6004DDU
03-05 6005DDU
06-08 6005DDU
06 6005DDU
04-05 6005DDU
06-08 6005DDU
06 6005DDU
06-08 6005DDU
06 6005DDU
09-13 6005DDU
09-10 6005DDU
09-13 6005DDU
09-13 6005DDU
09-10 6005DDU
04-05 6005DDU
06 6005DDU
05 6005DDU
06 6005DDU
06-07 6005DDU
08 6005DDU
06-07 6005DDU
08-10 6005DDU

83-03 6200DDU
83-03 6300DDU
00-03 6301DDU
00-03 6201DDU
04-05 6301DDU
04-05 6201DDU
06-09 6301DDU
06-09 6201DDU

12 6301DDU

12 6201DDU
83-85 6300DDU
83-85 6200DDU
86-87 6301DDU
86-87 6201DDU
88-97 6301DDU
88-97 6201DDU
98-00 6301DDU
98-00 6201DDU
01-05 6301DDU
01-05 6201DDU
06-09 6301DDU
06-09 6201DDU
10-12 6301DDU
10-12 6201DDU
88-90 6301DDU
88-90 6201DDU
91-96 6301DDU
91-96 6201DDU
03-05 6301DDU
03-05 6201DDU
06-09 6301DDU
06-09 6201DDU

SPOCKET
CARRIER

6006DDU
6006DDU
6006DDU

6206DDU
6206DDU
6206DDU
6206DDU
6206DDU
6006DDU
6206DDU
6006DDU
6206DDU
6206DDU
6206DDU
6206DDU
6206DDU

REAR WHEEL

LEFT

6304DDU
6304DDU
6304DDU
6205DDU
6205DDU
6205DDU
630422

630422

6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6204DDU
6204DDU
6204DDU
6204DDU
6204DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU

6301DDU

6301DDU

6301DDU

6301DDU

6301DDU

6301DDU

6301DDU

6301DDU

6202DDU

RIGHT

6304DDU
6304DDU
6304DDU
6205DDU
6205DDU
6205DDU
630422

630422

6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6204DDU
6204DDU
6204DDU
6204DDU
6204DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU
6304DDU

6201DDU

6201DDU

6201DDU

6201DDU

6201DDU

6201DDU

6201DDU

6201DDU

6202DDU

6202DDUx2 6202DDU

6202DDUx2 6202DDU

6202DDUx2 6202DDU

6301DDU

6301DDU

6201DDU

6201DDU

6202DDUx2 6202DDU

6202DDUx2 6202DDU



MAKE & MODEL

KX100DCF/DDF L/H
KX100DCF/DDF R/H
KX125D1

KX125E1

KX125E2

KX125F1

KX125G1

KX125H1

KX125H2

KX125J1

KX125J2
KX125K1-K5
KX125L1-L4
KX125M1 - M3
KM125K1-3
KDX200C1-3
KDX200E1-4
KDX200H9 - H11
KDX200H6F
KDX220A10 - A12
KDX250D1-2
KX250D1

KX250D2

KX250E1

KX250F1

KX250G1

KX250H1

KX250H2

KX250J1

KX250J3

KX250K1-3
KX250K4-K5
KX250L1-L4
KX250M1-M2
KX250R1
KX250R6F/R7F
KX250W9F

KX250F N1/N2 4 Stroke
KX250F T6F - T8F 4 Stroke
KX250F YCF

KX250F ZDF

KX450F D6F - D8F 4 Stroke
KX450F E9F 4 Stroke
KX450F EAF/EBF 4 Stroke
KX450F FCF/FDF
KX500B1

KX500B2

KX500C1

KX500D1

KX500E1

KX500E2

KX500E3
KX500E4/E5
KX500E7
KX500E15/E16

KTM

50 Junior

50 Mini

50 Senior

50 Senior

50 Supermoto
50 SX

65 SX

65 SX

85 SX

105 SX
125EGS L/H
125EGS R/H

WHEEL BEARINGS APPLICATION GUIDE

FRONT SPOCKET
YEAR L/H & R/H CARRIER

12-13 6301DDU
12-13 6201DDU
85 6203Z
86 6203Z
87 6203Z
88 6203Z
89 62032

90 6203DDU
91 6203DDU
92 6203DDU
93 6904DDU
94-98 6904DDU
99-02 6904DDU
03-05 6904DDU
94-96
86-88 6202DDU
86-92 6202DDU
03-05 6202DDU
06 6202DDU
03-05 6202DDU
91-95 6202DDU
85 6203Z
86 6203Z
87 62032
88 62032
89 62032
90 6203DDU
91 6203DDU
92 6203DDU
93 6904DDU
94-96 6904DDU
97-98 6904DDU
99-02 6904DDU
03-04 6904DDU
05 6904DDU
06-07 6904DDU
09 6904DDU
04-05 6904DDU
06-08 6904DDU
12 6904DDU
13 6904DDU
06-08 6904DDU
09 6904DDU
10-11 6904DDU
12-13 6904DDU
85 62032
86 62032
87 62032
88 62032
89 6203DDU
90 6203DDU
91 6203DDU
92-93 6203DDU
95 6904DDU
03-04 6904DDU

01-03 6201DDU
97-08 6001DDU
03 6001DDU
04-07 6202DDU
6202DDU
06-10 6202DDU
98-99 6003DDU
00-10 6003DDU
03-10 6003DDU
04-09 6003DDU
6003DDU
6203DDU

REAR WHEEL

LEFT RIGHT
6202DDUx2 6202DDU
60042
60042 60042
60042 60042
60042 60042
60042 60042

6004DDU  6004DDU
6004DDU  6004DDU
6004DDU  6004DDU
6004DDUx2 6004DDU
6004DDUx2 6004DDU
6004DDUx2 6004DDU
6905DDUx2 6905DDU
6004DDU  6004DDU
6004DDU  6004DDU
6004DDU  6004DDU
6004DDU  6004DDU
6004DDU  6004DDU
6004DDU  6004DDU
6004DDUx2 6004DDU x2
6004Z
60042
60042
60042
60042
6004DDU
6004DDU  6004DDU
6004DDU  6004DDU
6004DDUx2 6004DDU
6004DDUx2 6004DDU
6004DDUx2 6004DDU
6004DDUx2 6004DDU
6905DDUx2 6905DDU
6905DDUx2 6905DDU
6905DDUx2 6905DDU
6905DDUx2 6905DDU
6905DDUx2 6905DDU
6905DDUx2 6905DDU
6905DDUx2 6905DDU
6905DDUx2 6905DDU
6905DDUx2 6905DDU
6905DDUx2 6905DDU
6905DDUx2 6905DDU
6905DDUx2 6905DDU
60042 60042
60042 60042
60042 60042
60042 60042
6004DDU  6004DDU
6004DDU  6004DDU
6004DDU  6004DDU
6004DDU  6004DDU
6004DDU  6004DDU
6004DDUx2 6004DDU

60042
60042
60042
6004DDU

6201DDU
6001DDU
6001DDU
6001DDU
6202DDU  6202DDU
6202DDU  6202DDU
6003DDUx2 6003DDU
6003DDUx2 6203DDU
6005DDU  6005DDU
6005DDU  6005DDU
6005DDU  6005DDU

6201DDU
6001DDU
6001DDU
6001DDU

MAKE & MODEL

125EXC L/H
125 EXC R/
125 EXC

125 EXC

125 SX

125 SX

125 SX

125 SXS

125 SXS

144 SX

150 SX

150 XC

200 EXC  L/H
200 EXC  R/H
200 EXC

200 EXC

200 MXC  L/H
200 MXC R/H
200 MXC

200 MXC

200 SX

200 XC

200 XCW

250 EXC  L/H
250 EXC  R/H
250 EXC

250 EXC

250 EXC F
250 EXC G
250 MXC  L/H
250 MXC  R/H
250 MXC

250 SX L/H
250 SX R/H
250 SX

250 SX

250 SX F

250 SXS

250 SXS

250 SXS F

250 XC

250 XCF

250 XCF W
250 XCW

300 EXC L/H
300 EXC R/H
300 EXC

300 EXC

300 MXC

300 MXC

380 EXC L/H
380 EXC R/H
380 EXC

380 SX

380 SX

400 EXC

400 EXC

400 SX

400 XCW

450 EXC

450 SMR

450 SX

450 SXF

450 SXS

450 SXSF

450 XC

450 XCW

505 SXF

web: www.staniforths.co.uk

FRONT

SPOCKET

YEAR L/H & R/H CARRIER

94-99 6003DDU
6203DDU

00-02 6904DDU
03-10 6906DDU
94-99 6003DDU
00-02 6904DDU
03-10 6906DDU
02 6904DDU
03-08 6906DDU
08 6906DDU
09-10 6906DDU
10 6906DDU
98-99 6003DDU
6203DDU

00-02 6904DDU
03-10 6906DDU
>99 6003DDU
>99 6203DDU
00-02 6904DDU
03 6906DDU
03-04 6906DDU
06-07 6906DDU
06-09 6906DDU
94-99 6003DDU
6203DDU

00-02 6904DDU
03-10 6906DDU
06-10 6906DDU
03-05 6906DDU
98-99 6003DDU
98-99 6203DDU
00-01 6904DDU
98-99 6003DDU
98-99 6203DDU
00-02 6904DDU
03-10 6906DDU
05-10 6906DDU
01-02 6904DDU
03-07 6906DDU
06-08 6906DDU
06-10 6906DDU
07 6906DDU
07-10 6906DDU
06-10 6906DDU
98-99 6003DDU
98-99 6203DDU
00-02 6904DDU
03-10 6906DDU
00-02 6904DDU
03-05 6906DDU
6003DDU
6203DDU

00-02 6904DDU
98-99 6003DDU
00-02 6904DDU
00-02 6904DDU
03-10 6906DDU
00-02 6904DDU
07 6906DDU
03-10 6906DDU
04-10 6906DDU
03-07 6906DDU
07-10 6906DDU
03-06 6906DDU
07-08 6906DDU
04-07 6906DDU
07-10 6906DDU
07-08 6906DDU

REAR WHEEL

LeFT

6005DDU

6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU

6005DDU
6005DDU
6005DDU

6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU

6005DDU
6005DDU
6005DDU
6005DDU
6005DDU

6005DDU
6005DDU

6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU

6005DDU
6005DDU
6005DDU
6005DDU
6005DDU

6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU

| Email: sales@staniforths.co.uk

RIGHT

6005DDU

6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU

6005DDU
6005DDU
6005DDU

6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU

6005DDU
6005DDU
6005DDU
6005DDU
6005DDU

6005DDU
6005DDU

6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU

6005DDU
6005DDU
6005DDU
6005DDU
6005DDU

6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU

424

BEARINGS




%)
O
=
oc
<T
i
(aa]

MAKE & MODEL

505 XCF

520 EXC

520 SX

525 EXC

525 MXC

525 SMR

525 SX

525 XC

525 XCW

530 EXC

530 EXCR

530 XCRW

530 XCW

540 SXS

540 SXS

560 SMR

620 SC

625 SC

625 SMC

625 SXC

625 SXC

625 SXC

640 Adventure
640 Duke Il L/H
640 Duke Il R/H
640 Duke Il

640 LC 4 Adventure
640 LC 4 Enduro
640 LC 4 Enduro
640 LC 4 Supermotard
660 Rallye

660 Rallye

660 SMC

690 Duke

690 Duke R

690 Enduro

690 Enduro R
690 Rally

690 SMC

690 Supermotard
950 Adventure
950 Adventure S
950 Super Enduro
950 Super Enduro R
950 Supermoto
950 Supermoto R
990 Adventure ABS
990 Adventure R
990 Adventure S
990 Super Duke
990 Super Duke R
990 Supermoto
990 Supermoto R
1190 RC8

SUZUKI

A50 - L/H

A50 - R/H

AE50 STYLE

AH50 Address

AP50

AP50 Scooter

AY50 Katana
CL50DD Love

CP50

CS50DD Roadie - L/H
CS50DD Roadie - R/H
F50/FR50 - L/H
F50/FR50 - R/H

425

FRONT

YEAR L/H & R/H CARRIER LEFT

09 6906DDU
00-02 6904DDU
00-02 6904DDU
03-07 6906DDU
03-05 6906DDU
04-05 6906DDU
03-06 6906DDU
06-07 6906DDU

6906DDU
09-10 6906DDU

08 6906DDU

08 6906DDU
09-10 6906DDU
01-02 6904DDU
03-05 6906DDU
06-07 6906DDU
00-01 6904DDU

02 6904DDU
03-06 6906DDU
03-05 6904DDU

06 6906DDU

07 6906DDU
05-07 6906DDU
00-02 6003DDU

6203DDU
03-06 6203DDU
03-06 6906DDU
03-05 6904DDU

06 6906DDU
03-06 6906DDU

03
04-06 6906DDU
03-06 6906DDU
08-10 6906DDU

10 6906DDU
08-10 6906DDU
09-10 6906DDU
07-10 6906DDU
08-10 6906DDU
07-09 6906DDU
03-04 6906DDU
03-06 6906DDU

08 6906DDU
06-08 6906DDU
05-07 6906DDU
07-08 6906DDU
06-10 6906DDU
09-10 6906DDU
06-08 6906DDU
07-10 6906DDU
07-10 6906DDU
08-09 6906DDU
09-10 6906DDU
08-10 6906DDU

71-76 6300Z
71-76 6200Z
90-93 6200Z
92-93 6200Z
75-78 6300DDU
6200Z
6200Z
83-87 6200DDU
85-92 62002
81-83 6201Z
81-83 6202Z
71-86 63002
71-86 6200Z

telephone: 0114 2462027 |

WHEEL BEARINGS APPLICATION GUIDE

ReAR WHEEL
RIGHT

6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6205DDU
6005DDU
6005DDU
6205DDU
6205DDU
6205DDU

SPOCKET

6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6005DDU
6205DDU
6005DDU
6005DDU
6205DDU
6205DDU
6205DDU

6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU  6205DDU
6205DDU  6205DDU
6006DDUx2 6205DDU x2
6006DDUx2 6205DDU x2
6006DDUx2 6205DDU x2
6006DDUx2 6205DDU x2
6006DDUx2 6205DDU x2
6006DDUx2 6205DDU x2
6006DDUx2 6205DDU x2
6205DDU  6205DDU
6205DDU  6205DDU
6205DDU  6205DDU
6205DDU  6205DDU
6006DDUx2 6205DDU  6205DDU
6006DDUx2 6205DDU  6205DDU
6006DDUx2 6205DDU  6205DDU
6006DDUx2 6205DDU  6205DDU
6006DDUx2 6205DDU  6205DDU
6006DDUx2 6205DDU  6205DDU
6006DDUx2 6205DDU  6205DDU
6006DDUx2 6205DDU  6205DDU
6006DDUx2 6205DDU  6205DDU
6006DDUx2 6205DDU  6205DDU

6205DDU
6205DDU
6205DDU
6205DDU
6205DDU
6205DDU

6203Z 6201Z 63012

6203Z 6201Z 63012

6204DDU

62032 6201DDU 62012

Fax: 0114 2454232

MAKE & MODEL

FS50T/X Snip
FZ50N/X/Z Suzy
GT50KB/KEN - L/H
GTS0KB/KEN - R/H
OR50ET

TR50SW Street Magic
TS50KC/KN - L/H
TS50KC/KN - R/H
TSSOERKT/ERX-D - L/H
TS50ERKT/ERX-D - R/H
TS50X

UF50Y Estilete
UX50W Zillion
ZR50KEN/KEXAX1
ZR50SLKX/SKX/SKE/SKH
FR70B - L/H

FR70B - R/H

CP80

CS80CD Roadie - L/H
CS80CD Roadie - R/H
FR8OM/B/X/N/Z/D - L/H
FR80M/B/X/N/Z/D - R/H
A100K/L/M/A/B - L/H
A100K/L/M/A/B - R/H
GP100 Spoke Drum
GP100 Spoke Disc
GP100 Cast Disc
TS100K/L/M/A/B
TS100C/ERN/ERT/ERX
TS100ERZ (F/Floater)
DR -7110 K3-K5 - LH
DR -Z110 K3-K5 - RH
UG110Y Hokuto
B120D

AN125

CS125 Roadie - L/H
CS125 Roadie - R/H
DR1255Z/SD/SE (Drum)
DR125SF/SH/SJ (Disc)
DR125 SM

DR-7125

DR-Z125L

GP125 C/N/X/D
GN125R

GS125Z/D (Drum)
GS125ESZ/ESD/ESF
GS125ESK/ESM
GT125L/M/A/B/C/EC/N/EN
GZ125 K2 Marauder
RG125UCG/UH/UJ/UJ2
RG125UN/F-UN
RV125 Van Van
TS125K

TS125L/M

TS125A/B
TS125ERT/ERX/C
TS125ERZ (F/Floater)
TS125N (F/Floater)
TS125L/M/N/P/R
TS125XUE (Drum)
TS125XUF/XUG/XU)
TU125 Super Classic
UC125X/Y Epicuro
UH125 Burgman
VL125 Intruder
GT185L/M/A/B/C
TS185K

TS185L/M

FRONT
YEAR L/H & R/H

80-81 6200DDU
80-86 6200DDU
77-80 6300Z
77-80 6200Z
80 6300Z
6200Z
79 6300DDU
79 6200DDU
80-83 6300DDU
80-83 6200DDU
84-02 6200DDU
62002
6200Z
79-83 6300Z
82-90 6300Z
74-76 6300DDU
74-76 6200DDU
85-93 6200Z
83-87 62012
83-87 62022
76-87 63002
76-87 6200DDU
74-80 6300DDU
74-80 6200DDU
79-93 63002
78-84 6300Z
78-84 6300DDU
73-77 6201DDU
78-84 6201DDU
82-89 6201DDU
03-05 6200DDU
03-05 6300DDU
00-02 6200DDU
71-77 6301Z
6201Z
83-87 6203Z
83-87 6201Z
82-86 6201DDU
85-93 6201DDU
09-10 6201DDU
03-12 6201DDU
03-12 6201DDU
78-89 6300DDU
94-01 63012
82-87 63012
82-01 63012
90-93 63012
74-81 6301DDU
02 6302DDU
85-92 6201DDU
92-94 62022
03-04 6302DDU
72 62012
73-74 63012
75-77 63012
78-84 6201DDU
82-86 6201DDU
84-86 6201DDU
90-96 6202Z
84-85 6201DDU
86-90 6201DDU
99 63012
99-02 6201DDU
02-05 6201DDU
00> 6302DDU
75-79 6301DDU
73 62012
74-75 63012

SPOCKET
CARRIER

62032

62032

62032

62032
62032
62032

62032

6203z

62032
6203Z
62032

6004DDU

62042

62042
6204z
62042
6204z
62042
62042

62042
62052

6204DDU

6205DDU
6204DDU
6204DDU
6204DDU

REAR WHEEL

LEFT RIGHT
6301DDU 6301DDU
63012 62012
63012 62012
63012 63012
62012 62012
63012 62012
63012 62012
62012 63012
62012 63012
62012 63012
62012 63012
63012 63012
62012 63012
63022 62022
6302DDU 62022
6302DDU 62022
62012 6301DDU
62022 63022
62022 6302DDU
62022 6302DDU
6202DDU  6202DDU
6301DDU  6201DDU x2
6301DDU  6201DDU x2
62022 630272
62022 63022
62022 63022
62022 63022
62022 63022
62022 63022
62022 62022
62022 63022
62032 62032
6302DDU  6202DDU
6302DDU  6202DDU
6302DDU  6202DDU
62022 62022
6302DDU 62022
6302DDU 62022
6302DDU 62022
63032 62032
6302DDU  6202DDU
6302DDU  6202DDU
62022 62022
6202DDU  6302DDU
6202DDU  6302DDU
6302DDU 62022
6302DDU  6202DDU



MAKE & MODEL

TS1858B/C
TS185ERN/ERT/ERX
DR200SJ/SK/SL
DR200SE K3-K9
GT200EN/EX (X5)
SB200EN/EX

AN250 Burgman
DR-Z250 K3-K7
GN250F/J/M/R/S/T
GS250TT/TX
GSX250ET/EX
GSX250EZ (Katana)
GT250K/L/M/A/B/C
GT250EN/EX/EZ (X7)
GZ250

RG250WD Gamma |
RG250WE Gamma |l
RG250FG/FGH Gamma lIl
RGV250K-T

T250 - L/H

T250 - R/H
TS250K/L/M/A - L/H
TS250K/L/M/A - R/H
TS250B/C/ERN/ERT/ERX
TS250XE-XK
TU250XV-XW

TU250X L1

VL250 Intruder
DR350SL-X

T350

SP370C/N

GT380J (Drum)
GT380K/L/M
GT380A/B

AN400 Burgman
AN400 / A L1/12
DR400ST/SX

DR-Z400 E K3-K7
DR-Z400 S K1-K9/LO/L1/L2
DR-Z400 SM

GN400TT

GS400C/N

GSF400M/P Bandit
GSX400ET/EX/EZ (Twin)
GSX400FX/FZ/FD (Four)
GSX400T/TX (Twin)
SP400T

GS425EN
GS450ET/EG/EH/E)
GS500EK-EY
GS500K1-K4

GS500F K5 - K9
GT500A/B

RE5M/A Rotary
RG500CH Gamma
T500 - L/H

T500 - R/H
GS550DB/DC
GS550EC/EN
GS550ET/EX/EZ
GS550LT/LX (Custom)
GS550MX/MZ (Katana)
GSX550EE/EFE/ESD-ESH
GT550K/L/M/A/B
DR600SF Raider
DR600RG Paris-Dakar
GSF600F/S BANDIT
GSX600F)

WHEEL BEARINGS APPLICATION GUIDE

FRONT
YEAR L/H & R/H

76-78 6201DDU
79-85 6201DDU
88-91 6201Z
03-09 6201DDU
79-82 6301DDU
79-83 6201DDU
98-02 6202DDU
03-07 6003DDU
87-96 6302Z
80-85 6302DDU
80-84 6302DDU
82-85 6302DDU
73-78 6302DDU
78-83 6301DDU
03-10 6302DDU
83 6301DDU
84-85 6302DDU
86-88 6302DDU
89-96 6203Z
66-73 6202Z
66-73 6002Z
73-76 6202Z
73-76 60022
79-83 6201DDU
85-89 6201DDU
6302Z
11 6302DDU
00> 6302DDU
90-99 62022
70-73 62022
77-80 6201DDU
72 6302DDU
73-75 6302DDU
76-77 6302DDU
99-10 6202DDU
11-12 6202DDU
79-82 6201DDU
03-07 6904DDU
01-12 6904DDU
05-09 6904DDU
80-82 6302DDU
77-78 6302DDU
91-94 6302DDU
80-85 6302DDU
81-86 6302DDU
81-85 6302DDU
80-82 6201DDU
79-80 6302DDU
80-89 6302DDU
89-00 6302DDU
01-04 6302DDU
05-09 6302DDU
75-78 6302DDU
75-77 6302DDU
85-89 6302DDU
67-74 62022
67-74 60022
77-78 6302DDU
78-79 6302DDU
80-85 6302DDU
80-84 6302DDU
81-84 6302DDU
83-88 6302DDU
73-77 6302DDU
84-86 6202DDU
87 6202DDU
95-04 6203DDU
88 63032

SPOCKET
CARRIER

62042
62042

6204DDU
62042

6204DDU
6204DDU
6204DDU
62052

6204DDU

6204DDU
6204DDU
6204DDU
62052
62052

6204DDU

6205DDU
62052
62052
6304DDU
62052
62052
62052

62052
6204DDU
6204DDU

62052
62052
62052
62052
6205Z
62052
6304DDU
62052
62052
6205Z

6305DDU
62052
6305DDU
63052
62052

6305Z
63052
63052
63052
63052
6205DDU
62052
62052
62052
6305DDU
62052

REAR WHEEL
LEFT RIGHT
6201DDU 63022
6201DDU 63022
63022 62022
6302DDU 6202DDU
62022 63022
62022 63022
6004DDU  6004DDU
62022 63022
62022 63022
62022 63022
62022 63022
62032 63032
62022 63022
6302DDU 6202DDU
620227 620272
620227 620272
620277 620272
62042 62042
62032 63032
63022 6304DDU
63022 6304DDU
62022 62022
62022 63022
6202DDU  6302DDU
6202DDU  6302DDU
62042 62042
62032 63032
63022 63022
62032 63032
62032 63032
62032 63032
63032 62032
6004DDU  6004DDU
6004DDU  6004DDU
6004DDU  6004DDU
62032 63032
62032 63032
63032 63032
62032 63032
62032 63032
62032 63032
63022 63022
62032 63032
62032 63032
63032 63032
6202DDU  6202DDU
6303DDU  6303DDU
62032 63032
62042 63042
62032 62032
63032 62032
63032 6303DDU
63032 6303DDU
63032 6303DDU
63032 6303DDU
63032 6303DDU
62032 63032
62032 63032
6203DDU  6203DDU
6203DDU 6203DDU
6204DDU  6204DDU
62032 63032

MAKE & MODEL

GSX600FK-FY

GSX600F K1-K3
GSX600F K4-K6
GSXR600WV-Y
GSXR600K1-K9/LO
GSXR600L1/L2
RF600RP

VS600GL

AN650 Burgman
ANG650 K7-K9/L0/L1/L2
ANG650A K7-K9/L0/L1/L2
DL650 K4-K9/L0/L1
DL650A K7-K9/L0/L1/L2
DR650RSEM/RSEN/RSEP
DR650SET

DR650SE K3-K9/L0/L1/L2
GS650GT/GTZ/GTD
GS650GX/GZ Katana
GSF650 K5-K6 Bandit
GSF650 K7-K9/LO
GSR600 K6-K9/LO
GSX650F K8/K9/LO/L1
LS650FH/PJ-PM Savage
LS650P

1S650 LO/L1/L2

SFV650 K9

SV650 K3-K9/L0/L1/L2
XF650

XN85D Turbo (650cc)
DR750S) Desert
DR750SK Desert
GS7508
GS750DB/DC/EC/EN
GSX750ET/EX
GSX750ESD/ESE/EFE/EFG
GSX750FK
GSX750FL-FS

GSX750F

GSX750F K1/K2
GSX750F K3-K6
GSX750SE Katana
GSXR750F/G/H
GSXR750J/K Slingshot
GSXR750L/M Slingshot
GSXR750WN-WS
GSXR750WT-WX
GSXR750WY - K9/LO
GSXR750L1/L2
GSXR750RK (RR750)
GT750A/B
GT750K/L/M
VS750GL/PH/PL/PK/PM
DR800SL DR-BIG
DR800SM DR-BIG
VL800K1-K4

VL800 C50 K5

VL800 C /T K6 - K9

VL 800 C L1/L2
VS800GLN/P/R/S/T
VS800GL K1 - K4

VS800 S50 K5

VS800 K6 - K9
VX800L/M/P

VZ800 K3 - K9
GS850GN
GS850GT/GX/GZ/GE/GG
RF900RR

FRONT
YEAR L/H & R/H

63022
01-03 6302DDU
04-06 6203DDU
97-00 6205DDU
01-10 6205DDU
11-12 6022DDU
93-98 6203Z
96-98 6302DDU
02-06 6203Z
07-12 6203DDU
07-12 6203DDU
07-11 6203DDU
07-12 6203DDU
91-93 62022
96 6003DDU
03-12 6003DDU
81-86 6302DDU
81-84 6302DDU
05-06 6203DDU
07-10 6204DDU
06-10 6022DDU
08-11 6204DDU
87-95 6302DDU
03-09 6302DDU
10-12 6302DDU
09 6203DDU
03-12 6203DDU
60032
83-86 6302DDU
88 62022
89-90 6202Z
76 6302DDU
77-80 6302DDU
79-82 6302DDU
83-89 6302DDU
89 63022
89-96 6302Z
98-00 6302DDU
01-02 6302DDU
03-06 6203DDU
85-87 6302Z
85-88 6302DDU
88-89 6204DDU
90-91 6204DDU
92-95 6204DDU
96-99 6005DDU
00-10 6205DDU
11-12 6022DDU
89-91 6204DDU
76-77 6302DDU
73-75 6302DDU
85-92 6302DDU
90 62022
91 62022
01-04 6203DDU
05 6203DDU
06-09 6203DDU
11-12
92-96 6302Z
01-04 6302DDU
05 6302DDU
06-09 6302DDU
90-93 63022
03-09 6203DDU
79 6302DDU
80-89 6302DDU
94-99 6204DDU

DL1000K2-K9/L0/L1/L2 V-Storm 02-12 6204DDU

web: www.staniforths.co.uk |

SPOCKET
CARRIER

6205Z

6305DDU
6305DDU
6232DDU
6232DDU
6232DDU
6205Z

6232DDU
6232DDU
62052

6205DDU
6205DDU

6305DDU
6305DDU
6232DDU
6305DDU
63052

6305DDU
6305DDU
6305DDU
6305DDU

6205Z
62052
63052
6305Z
63052
6305Z
62052
6205Z
6305DDU
6305DDU
6305DDU
6305DDU
63052
6205Z
6205Z
6205Z
6205DDU
6232DDU
6232DDU
62052
6305DDU
6305DDU

6205Z
6205Z

6232DDU

REAR WHEEL

LeFT

63032
6303DDU
6303DDU
6032DDU
6028DDU
6005DDU
62042
6303DDU
620427
6204DDU
6204DDU
6204DDU
6204DDU
63032
6204DDU
6204DDU
6303DDU
6303DDU
6204DDU
6204DDU
6205DDU
6204DDU
6303DDU
6303DDU
6303DDU
6204DDU
6204DDU
6204DDU
6204z
63032
63032
62042
62042
62042
63032
63032
63032
6303DDU
6303DDU
6303DDU
63032
60042
6204DDU
6204DDU
6204DDU
6204DDU
6028DDU
6005DDU
6204DDU
62042
62042
63032
63032
63032
6303DDU
6303DDU
6303DDU
6303DDU
63032
6303DDU
6303DDU
6303DDU
63032
6303DDU
63032
63032
6204DDU
6204DDU

Email: sales@staniforths.co.uk

RIGHT

63032
6303DDU
6303DDU
6032DDU
6028DDU
6205DDU
62042
6203DDU
620422
6204DDU
6204DDU
6204DDU
6204DDU
63032
6204DDU
6204DDU
6303DDU
6303DDU
6204DDU
6204DDU
6205DDU
6204DDU
6303DDU
6303DDU
6303DDU
6204DDU
6204DDU
6204DDU
6204DDU
63032
63032
6204DDU
6204DDU
6204DDU
6303DDU
63032
63032
6303DDU
6303DDU
6303DDU
6303Z
6004DDU
6204DDU
6204DDU
6204DDU
6204DDU
6028DDU
6205DDU
6204DDU
6304Z
63042
6203DDU
63032
6303Z
63032
6303DDU
6303DDU

62032

6203DDU
6203DDU
6203DDU
63032

6303DDU
6303DDU
6303DDU
6204DDU
6204DDU

426

BEARINGS




%)
O
=
oc
<T
i
(aa]

MAKE & MODEL

GS1000HC
GS1000EC/EN/SN
GS1000ET

GS1000GT/GX Shaft
GSX1000SZ/SD Katana
GXSR1000 K1-K4
GXSR1000 K5-K9/L0/L1/L2
SV1000 K3-K7

TL1000S / R

GS1100G

GSX1100EF/EG
GSX1100EFE/EFF/EFG
GSX1100ESD
GSX1100ET/EX/EZ
GSX1100FJ-FN - L/H
GSX1100FJ-FN - R/H
GSX1100GN
GSX1100SZ/SD Katana
GSXR1100G/H

GSXR1100J
GSXR1100K/L/M/N
GSX1100WP-T

GSF1200ST BANDIT
GSF1200SV-SY BANDIT
GSF1200T BANDIT
GSF1200V-Y BANDIT
GSF1200 K1-K5

GSF1250 K7 - K9/10
GSX1250FA L1

GSX1300 B - KING K8 - K9
GSXR1300 Hayabusa
GSXR1300 Hayabusa K8-K9
GSXR1300 Hayabusa LO/L1/L2
GSX1400 K1-K7

VS1400 INTRUDER
VS1400GLP INTRUDER K3-K9

VL1500 INTRUDER
VZ1600 K3 - K5
VLR1800 K8 - K 9
VZR1800
VZR1800 L1
VZR1800 L2
VZR1800Z L1
VZR1800Z L2

SUZUKI (OFF ROAD)

JRSOK
LTSOF/G/H/J/K/L/M
RB50H - L/H

RB50H - R/H
RMSO0C/N/T/X/Z - L/H
RMSO0C/N/T/X/Z - R/H
RM6ON/T/X/Z/D - L/H
RMGON/T/X/Z/D - R/H
RM6S - L/H

RM6S - R/H
RM80B/C/N - L/H
RM80B/C/N - R/H
RMSOT/X/Z - L/H
RMSOT/X/Z - R/H
RM8OHD/HE
RMSOHF

RM8OXD

RMSOXE

RM8OXF

RM8OXG

RM8OXH

RMSOX)

RMSOXK

427

FRONT
YEAR L/H & R/H

78 6302DDU
78-79 6302DDU
80-84 6302DDU
80-83 6302DDU
81-84 6302DDU
01-04 6205ZZ
05-12 6205DDU
03-07 6205DDU
97-03 6205DDU

82 6302Z
85-88 6203DDU
84-83 6203DDU
83-85 6203DDU
79-84 6302DDU
87-96
87-96 6303DDU
92-93 62032
81-85 62032
86-88 6302Z

89 6303DDU
89-92 62042
93-96 62042

6204DDU
6204DDU
6204DDU
6204DDU
6204DDU
07-10 6205DDU

11 6205DDU
08-09 6205DDU
99-07 6205DDU
08-09 6205DDU
10-12 6205DDU
01-07 6205DDU
87-99 6302DDU
03-09 6302DDU
03-08 6203DDU
03-05 6005DDU
08-09 6205DDU
06-09

11 6205DDU

12 6205DDU

11 6205DDU

12 6205DDU

89 6000Z
84-90 6002Z x4
87 6200Z
87 6000Z

78-82 6300Z
78-82 6200Z
79-83 6300Z
79-83 6200Z
03 6201DDU
03 6301DDU
77-79 6300Z
77-79 6200Z
80-82 6300Z
80-82 6200Z
83-84 62022
85 62022
83 6200Z
84 6200Z
85 6200Z
86 6200Z
87 6200Z
88 6200Z
89 62012

telephone: 0114 2462027 |

WHEEL BEARINGS APPLICATION GUIDE

SPOCKET
CARRIER

6305Z
6305Z
6305Z

6305Z

6232DDU
6232DDU
6232DDU
6232DDU

63052
63052
63052
63052
62052

63052

63052

62052

62052

62052

6205DDU
6305DDU
6305DDU
6305DDU
6305DDU
6232DDU
6232DDU
6232DDU
6232DDU
6232DDU
6232DDU
6232DDU

62032

ReAR WHEEL

LeFT

62042
62042
62042
63032
620422
6028DDU
6028DDU
6028DDU
6032DDU
63032
620422
620422
62042
620422
6204DDU

6204DDU
62042
60042 x2
6204DDU
6204DDU
6204722
6204DDU
6204DDU
6204DDU
6204DDU
6204DDU
6028DDU
6028DDU
6028DDU
6032DDU
6028DDU
6028DDU
6028DDU
6303DDU
6303DDU

RIGHT

6204DDU
6204DDU
6204DDU
6303DDU
6204DDU
6028DDU
6028DDU
6028DDU
6032DDU
63032

6204DDU
6204DDU
6204DDU
6204DDU
6204DDU

6204DDU
62042
6004Z x2
6204DDU
6204DDU
6204DDU
6204DDU
620422
6204DDU
620422
6204DDU
6028DDU
6028DDU
6028DDU
6032DDU
6028DDU
6028DDU
6028DDU
6303DDU
6303DDU

6204DDUx2 6204DDU
6304DDU  6304DDU
6205DDUx2 6205DDU
6205DDUx2 6205DDU

6205DDU

6205DDU

6000Z 6000Z

62012 6301Z

63012 6301Z

6301Z 63012

6301DDU  6201DDU

63012 63012

6301Zx2  6301Z
62022
62022
63012
62022
62022
62022
62022
62022
62022

60022
60022
62012
60022
6002Z
60022
60022
60022
60022

Fax: 0114 2454232

MAKE & MODEL

RM80XL

RM80XM
RMB8OR/S
RM8OXN/XP
RMB8OXT-XY /K1/K2
RM85 K3-K9
RM100A/B/C
RM100N/T/X
RM100

LT125D

LT125E/F

LT125H
RM125M/A
RM125B

RM125C

RM125N

RM125T
RM125X/Z
RM125D/E
RM125F/G
RM125H
RM125J/K/L/M
RM125N/P/R/S/T/V/W
RM125X
RM125Y / K1-K7
LT160EK/EL
PE175C/N
PE175T/X

PE175Z
LT185EK/EL
DR200SJ/SK/SL
LT230EL - Inner
LT230EL - Outer
LT230GEF/GEG - Inner
LT230GEF/GEG - Outer
LT-F230G/H - Inner
LT-F230G/H - Outer
LT250EFF/EFG
LT250RF
LT250RG/RH
LT250RJ/RK/RL
LT250K/L

LT-F4AWD 250 H/J/K
LT-F4AWD 250 L/M
PE250B/C

PE250N
PE250T/X/Z

RL250 - L/H

RL250 - R/H
RM250T

RM250X

RM250Z

RM250D

RM250E

RM250F

RM250G

RM250H

RM250)

RM250K

RM250L

RM250M
RM250N/P/R/S/T/V/W
RM250X

RM250Y K1-K6
RMX250K
RMX250L
RMX250M/N/P
RM-Z250

FRONT

SPOCKET

YeAR L/H & R/H CARRIER

90 6201Z
91 62012
94-95 6201Z
92-93 62012
96-02 6201DDU
03-09 6201DDU
76-78 62012
79-81 62012
03 6201DDU
83 6203Z xa
84-85 6203Z x4
87 6203Z xa
75-76 63012
77 6201Z
78 62012
79 6201Z
80 62012
81-82 62022
83-84 62022
85-86 6202Z
87 60032
88-91 6003Z
92-98 6003Z
99 6904DDU
00-07 6904DDU
89-90 6203Z x4
78-79 6201Z
80-81 6201Z
82 62022
89-91 6203Z x4
88-91 62012
90-92 6204Z
90-92 62022
85-86 6204Z
85-86 6202Z
86-87 6204Z
86-87 6202Z
85-86 6006Z
85 60062
86-87 6006Z
88-91 6006Z
89-91 6006Z
87-89 6006Z
90-92 6006Z
77-78 6201Z
79 62012
80-82 62012
74-76 6202Z
74-76 60022
80 6201Z
81 6202Z
82 62022
83 62022
84 6202Z
85 62022
86 6202Z
87 60032
88 6003Z
89 6003z
90 6003Z
91 6003z
92-98 6003Z
99 6904DDU
00-06 6904DDU
89 6003Z
90 60032
91-93 6003z
04-06 6904DDU

62042
6204z

6005Z

REAR WHEEL

LEFT RIGHT
62022 60022
62022 60022
62022 60022
62022 60022
6202DDU  6002DDU
6202DDU  6002DDU
62022 63022
62022 62022
6202DDUx2 6202DDU
60072 60072
60072 60072
60072 60072
62022 63022
62022 63022
63022 62022
63022 62022
63022 62022
62022 62022
62022 62022
62022 62022
62022 62022
62042 62042
6004Z 60042
6905DDUx2 6905DDU
6022DDUx2 6022DDU
60072 60072
63022 62022
63022 63022
63022 63022
60072 60072
63022 62022
6009

6009

6009

62032 62032
62032 62032
62032 62032
63022 6304DDU
62022 62022
62022 62022
62022 62022
62022 62022
63032 62032
63032 62032
63032 62032
62042 62042
62042 62042
62042 62042
62042 62042
62042 62042
6204Z x2 60042
6905DDUx2 6905DDU
6022DDUx2 6022DDU
62042 62042
62042 62042
62042 62042
6905DDUx2 6905DDU



WHEEL BEARINGS APPLICATION GUIDE

FRONT SPOCKET REAR WHEEL FRONT SPOCKET REAR WHEEL

MAKE & MODEL YeAR L/H & R/H CARRIER LeFT RIGHT MAKE & MODEL YEAR L/H & R/H CARRIER LeFT RIGHT

RM-Z250 07-11 6905DDUx2 6905DDU  RD80LC 82-85 6301Z NONE 6301Z  6301Z

RL325 - L/H 74-76 62022 NONE 6302Z 62032 T80 Townmate 83-96 63002 NONE 6301Z  6301Z

RL325 - R/H 74-76 6002Z V80 79-82 6300Z  6004Z  6301Z  6301Z

DR350M (Enduro) 91-92 62022 NONE 6004Z 60042 V80DL 83-87 6300Z 6004z  6301Z  6301Z

PE400T/X/Z 79-82 6201Z 60052  6203Z 62032 V90 78 63002  6004Z  6202Z 62022

RM400C 78 62012 NONE 6203Z 62032 DT100A/B/C/D/E/F 76-85 6301Z 60042 62022 62022

RM400N 79 62012 NONE 62032 62032 RS100 (Drum) 75-80 6301Z 60042  6301Z 6301

RM400T 80 62012 NONE 62032 62032 RS100 (Disc) 77-80 6301Z  6004Z  6301Z  6301Z

RM-Z450 05-10 6905DDU  6905DDU  RXS100 83-96 6301Z 60042  6301Z 6301

RM465X/Z 81-82 6202Z NONE 6202Z x2 62022 YB100 78-81 63012 60042 63012 63012 m

RM500D 83 62022 NONE 6302Zx2 6202Zx2  YB100 82-92 6301Z  6004Z  6301Z  6301Z (6]

RM500E 84 62022 NONE 6203Z 62032 YQ100 Aerox 02> 6300DDU b
TT-R110 08-09 6200DDU —

TRIUMPH BL125 Beluga - L/H 85-87 63012 NONE NONE NONE o

Daytona 600 & 650 6004DDU  6205DDU  6204DDU  6204DDU g, 155 o) 0, - R/H 8587 62012 <

Daytona 675 Up To Vin 381274 6004DDU  6205DDU  6204DDU  6204DDU [ 1cr 73 63012 Lo 63022 62022 (TN}

Daytona 675 Vin 381275 On 6004DDU  6205DDU  6204DDU  6204DDU oo\ 1o ~o.53 RN Lo 63022 62022 o

Daytona 955i 6004DDU  62050DU  6204DDU  6204DDU 7155 it (Drum) 32-86 3012 o 63022 62022

Rocket I|| Class.ic, Roadster 6204DDU 6204DDU  \rioci k2 (Disc) 85 62022 NONE 63022 62022

Rocket lii Touring Al 6204DDU 171551 ¢ mk3 (Disc) 8689 62022 NON: 63022 62022

Speed Four 6004DDU  6205DDU  6204DDU  6204DDU 15 (3 33.03 Eo0E o ko0 Eoodz

Speed Triple 141872-210444 COIBDY DT125R (3MB) 8803 62022  NON:  6004Z  6004Z

Speed Triple 461332 On COMBDL DT125RL 9192 6202Z  NOME  6004Z  6004Z

Street Tr{ple 6004DDU  6205DDU  6204DDU  6204DDU oo 0200 000

Street Triple R 6004DDU _ 6205DDU _ 6204DDU | 6204DDU | o1y (50 Wheel) 75-77 630222 NOME 620422 630222

Tiger 800 6204DDU _ 6205DDU _ 6204DDU _ 6204DDU _ - 1y/ oyt \wheel) 78-81 63022  NONE 620422 630222

Tiger 1050 6206DDU _ 6204DDU _ 6204DDU 1y, ) ;g 82-86 6301Z  NONE 63022 62022

YAMAHA RD125LC Mk2 85-86 6301Z NONE 63022 62022

BW'S 50 04-09 6300DDU 6203DDU  RD125LC MK3 (RDZ125) 87-88 63012 NONE 63022 62022

CA50M Salient 83-84 62002  NONE NONE NONE RS125 (Drum) 756301Z 6004z 62027 62022

CA50M DL Salient 84-87 62002 NONE NONE NONE RS125DX (Disc) 76-80 62022 6004z 62022 6202z

G50 Jog 38-92 62002 o I o RS125DX (Disc) 81 6202Z 6004Z  6202Z 62022

CWSO0T BW'S 90-93 63002 LT T o SR125SE/Custom 82-93 6301Z NONE 63022 62022

CY50 Jog-in 90-93 62002 NONE NONE NONE SR125 93-94 6301DDU /A 6302DDU  6202DDU

CZ50Z JogRR 06-09 6300DDU NONE  NONE  NONE SR1255E 36 GEcLEN A= N

DT50MX 81-86 63012  NONE  6301Z  6301Z TT-R125 LWP-LWX 03-08 Ll L il

DTS0MX 87-94 63012  NON: 63012 6301Z TT-R125 LWE 11 L]

FS1E (Drum) 74-76 62022 6004Z  6301Z  6301Z TW125 99-01 6202DDU 6203x2 _ 6203DDU

FS1EDX (Disc) 76-79 6301Z  6004Z  6301Z  6301Z TW125 02-04 6202DDU 6303DDU

FS1DX (Disc) 79-81 63012 NONE 63012 6301z TZR125L 87-93 63012 NONE 63022 62022

FS1SE (Chopper) 81-82 6300  NONE 63012  6301Z TZR125R 93-95 6301Z 6204z 6202z 62027

Fs1 87-92 63002 NONE 63012 6301z XC125 92-93 63012 NONE NONE NONE

LC50M Bop 80 6200  NONE NONE NONE XN125 Teo's 01-03 6201DDU

MAS50M (QT50) 80-84 62002  NONE NONE NONE XT125 82-86 63012 NONE 6202z 6202z

MS50 85-87 62002 NONE NONE NONE XVS125 Dragstar 98-05 6303DUU 6202DDU 6202DDU  6304DDU

QT50T 86-93 62002 NONE NONE NONE YBR125 ED 05-06 6202DDU  6004DDU 6202DDU  6202DDU

RD50M (Spoke Wheel) 78 63012 NONE 63012 63012 YBR125 Carb 07-09 6202DDU 6004DDU 6202DDU 6202DDU

RD50M (Cast Wheel) 79-80 63012 NONE 63012 63012 YBR125 10-12 6202DDU 6004DDU 6202DDU 6202DDU

RD50MX 81-89 6301Z NONE 63012 63012 YP125 Majesty 4T 98-00 6201DDU 6222DDU

SA50M/ME Passola 80-81 62002 NONE NONE NONE YP125E Majesty 4T 03-05 6201DDU

T50 Townmate 86-89 63002 NONE NONE 63012 YZF-R125 09-12 6202DDU 6004DDU 6202DDU 6202DDU

TT-R50 E 06-12 6201DDU 6201DDU  6201DDU  DT175A/B/C/E/MX 74-86 63012 NONE 63022 62022

TYS0M 77-80 63002 NONE 63012 63012 RD200 (Spoke Wheel) 75-78 63022 62042 62022 62022

V50M/P 74-82 6300Z 60042 62022  6202Z RD200DX (Cast Wheel) 74-84 630222 NONE 620422 630222

V50M DL 83 63002 60042 63012 63012 RS200 79-85 62022 62042 62022 62022

YES0 Zest 93 63002 NONE NONE NONE DT250 75-76 62022 NONE 6203Zx2 62032

YN50R Neo'’s 04-10 6300DDU 6203DDU  DT250MX 77-82 62022 NONE 6203Zx2 62032

YQ50 Aerox 04-10 6300DDU 6203DDU  RD250A/B 74-75 6303Z 62052 63032  6303Z

YWS50 Zuma 02-10 6300DDU RD250C 76 6303Z 62052  6303Z 63032

V70A 76 63002  6004Z  6202Z 62022 RD250D 77 63032 NONE 63042 6303z

V75A 7763002  6004Z  6202Z 62022 RD250E/F 78-79 63032 NONE 6304Z 6303z

CV80 Beluga 82-86 63002 NONE NONE NONE RD250LC 80-86 6301Z NONE 63042 630222

DT8OMX 81-83 6301Z NONE 6301Z  6301Z SR250 93-94 6202Z 62042  6203Z  6203Z

DT8OMX II/S 84-87 6301Z NONE 6301Z 63012 SR250SE 80-84 6202Z 62042  6203Z  6203Z

LB2/80 Bop 2 81-86 6300Z NONE 6301Z 63012 TDR250 88-92 6202Z 62042  6202Z 62022

RD8OMX 82-86 6301Z NONE 6301Z 63012 TT250R 6202DDU

web: www.staniforths.co.uk |

Email: sales@staniforths.co.uk

428



%)
O
=
oc
<T
i
(aa]

MAKE & MODEL

TZR250

XS250C (Disc)
XS250D/E
XS250SE/SF
XS250C (Drum)
XT250

XV250S

XVS250 Dragstar
YP250 Majesty
YP250R X-Max
RD350A/B
RD350LC
RD350R

RD350 YPVS
RD350F YPVS
RD350N YPVS
XT350

XS360B

XS360C

DT400
DT400MX
FZR400RR
FZR400RRSP
RD400C/D
RD400E/F
XS400C (S.0.H.C.)
XS400D (S.0.H.C.)
XS400SE (S.0.H.C.)
XS400 (D.O.H.C.)
YP400 Majesty
RD500LC

SR500

XP500

XP500 A

XP500 T-Max
XP500

XP500

XS500B

XS500C

XT500

XV535 VIRAGO
XJ550

XZ550

XT550

FZ6

FZ-6N

FZ-6NS

FZ-6S

FZ600

FZR600 Genesis
FZR600R
FZS600 Fazer
FZS600 S Fazer
SRX600

XJ600

XJ600S Diversion
XT600

XT600E

XT600Z Tenere
XT600ZE Tenere
YZF600R THUNDERCAT
YZF - R6

YZF - R6

YZF - R6

XJ650

XJ650 Turbo
XS650

XS650

429

FRONT
YEAR L/H & R/H

87-91 63012
78 630222
79-80 630222
79-81 630222
81 6302Z
80-83 62022
96-01 6202
00-04 6303DUU
00-03 6302DDU
05-10 6202DDU
73-75 6303Z
80-82 63012
93 63012
83-86 6301Z
85-91 63012
85-87 6301Z
85-93 62022
75 630222
76 6302ZZ
75-76 6202Z
77-82 62022
92-94 6203DDU
91-94 62032
76-77 6303Z
78-79 6303Z
78 6302ZZ
79 63022z
80-81 630222
82-85 63022
04-05 6302DDU
84-87 63022
78-83 6303DUU
01-05 6302DDU
05 6302DDU
01-07 6302DDU
09 6004DDU
10-12 6022DDU
75-77 63032
78-81 6303Z
77-83 62022
88-02 630322
81-85 6302Z
82-86 6302Z
82-84 6202Z
06-09 6022DDU
04-05 6022DDU
05 6022DDU
04-05 6022DDU
87-89 63022
89-93 63022
94-95 6203DDU
98-03 6203DDU
01 6203DDU
86-89 6302Z
91-98 63022
91-98 6203Z
84-89 62022
90-03 6202Z
84-86 6202Z
87-93 62022
96-03 6203DDU
99-03 6022DDU
04-05 6022DDU
06-13 6022DDU
80-85 6302Z
82-85 63022
75 6303Z
77-81 63032

telephone: 0114 2462027 |

WHEEL BEARINGS APPLICATION GUIDE

SPOCKET
CARRIER

62042

62042
6304DDU
6202DDU

62052
63042
63042
63042
63042
6304Z
62042

6205DDU
62052

6304Z

63224

6304z

63042

6228DDU
6228DDU
6228DDU
6228DDU
6304DDU
6322DDU
6206DDU
6204DDU
6204DDU
6304DDU
6304DDU
6322DDU
6304DDU
6304DDU
6304DDU
6304DDU
6206DDU

6228DDU

ReAR WHEEL
LeFT RIGHT
62022 62022
63042 630222
63042 630222
63042 630222
63042 630322
62032 62032
6202DDU  6303DDU
6304DDU 6202DDU
6302DDU
63032 63032
6204DDU 630222
630272 630222
630277 630222
630222 630222
630222 630222
62032 6203DDU
63042 630222
63042 630222
6203Zx2 62032
6203Zx2  6203Z
60042 62042
63042 63032
63042 63032
6304DDU 630322
6304DDU 630322
6304DDU 630322
6203DDU 63032
62032 63032
6203DDUx2 6203DDU

6203DDU  6303DDU
6203DDU  6303DDU

63052
63052

63042
63042

6203DDUx2 6203DDU

63022
6203DDU
62032 x2
6203DDU
BEA456
BEA456
BEA456
BEA456
6203DDU
6203Z x2
6204DDU
6204DDU
6204DDU
6203DDU
62032
6203Z x2
62032
62032
62032
62032
6204DDU
BEA487
BEA487
BEA487

630222
63032
63032
6203DDU
6228DDU
6228DDU
6228DDU
6228DDU
630322
63032
6204DDU
6206DDU
6206DDU
63032
63032
6303DDU
6203DDU
6203DDU
6203DDU
6203DDU
6204DDU
6028DDU
6228DDU
6228DDU

6203DDUx2 6303Z
6203DDUx2 6303Z

63052
63052

63042
63042

Fax: 0114 2454232

MAKE & MODEL

XS650SE

XS650SE

MT03

XT660 R

XT660 X

XT660 Z

XTZ660 Tenere
FZ750

FZ750

FZR750RT Genesis
FZR750R (OWO01)
FZX750 Fazer
XJ750

XS750

XS750SE
XTZ750Super Tenere
XV750SE

XV750

XV750 VIRAGO
YZF750R/SP
YZF750R/SP

YZF - R7

TDM850

TRX850

XS850

TDM900

TDM900 A

XJ900

XJ900F

XJ900S DIVERSION
FZ1

FZIN

FZ1S

FZR1000 Genesis
FZR1000R EXUP
FZR1000RU EXUP
FZR1000 EXUP
FZS1000 Fazer
FZS1000/A
FZS1000/A
GTS1000A

TR1 (XV1000)
YZF1000R THUNDERACE
YZF - R1

YZF - R1

YZF - R1

YZF - R1

YZF - R1

XV1000 Virago
BT1100

XS1100

XS1100S

XV1100 Virago
XV1100 Virago
FJ1100

F11200

FI1200

FJ1200 ABS
XJR1200

XT1200Z Super Tenere
XV1200TD Venture
XZV1200TD VENTURE
VMX1200 (V-MAX)
FJR1300

FIR1300

XJR1300

XVZ1300
XZV1300A ROYAL STAR

FRONT
YEAR L/H & R/H

79-80 6303Z
81 63032
09-11 6004DDU
04-12 6203DDU
04-12 6203DDU
08-12 6203DDU

91-96 6202Z
85-88 63022
89-92 6302Z
87 63022
89-92 6004DDU
87-89 6302Z
82-84 630222
77-79 6303ZZ
79-82 6303ZZ
89-94 6302Z
81-83 6302Z
92-95 6302Z
96-97 6302DDU
93 6004DDU
94-97 6004DDU
99-00 6022DDU
91-01 630322
96-99 6203DDU
80-86 6302ZZ
02-05 6004DDU
06-10 6004DDU
83-84 6302Z
85-94 63022
95-03 6203DDU
06-10 6022DDU
06-12 6022DDU
06-12 6022DDU
87-88 6302Z
89-91 6203DDU
92-93 6203DDU
94-95 6004DDU
01-04 6004DDU
04-05 6004DDU
06 6004DDU
93-96
81-86 6302Z
96-02 6004DDU
98-99 6022DDU
00-01 6022DDU
02-05 6022DDU
06 6022DDU
07-13 6022DDU
86-89 6302Z
02-06 6004DDU
78-80 6303Z
81-85 6303Z
89-94 63022
96-97 6302Z
84-86 6302Z
86-87 6302Z
88-93 63022
91-93 6302Z
95-98 6203DDU
10-12 6022DDU
85-86 6303Z
85 6303Z
86-03 63032
01-04 6022DDU
05-11 6022DDU
04-11 6022DDU
97-01 6022DDU
96-98 6022DDU

SPOCKET
CARRIER

6304DDU
6304DDU
6304DDU
6304DDU
6322DDU
6322DDU
6322DDU
63052

6322DDU

6322DDU

6203DDU
62062

6206DDU
6028DDU
6322DDU
6206DDU

6028DDU
6028DDU

6004DDU
6228DDU
6228DDU
6228DDU
63052

63052

63052

6305DDU
6205DDU
6028DDU

6305Z

6206DDU
6206DDU
6228DDU
6228DDU
6228DDU
6228DDU

6004DDU

6203DDU
630522
63052
63052
63052
6305DDU

REAR WHEEL
LEFT RIGHT

6305Z 63042
63052 63042

6203DDU
6203DDU
6203DDU
6203DDU
6203Z x2
62032 x2
6203Z x2
60042
6203Zx2  6303Z
6203Zx2  6303Z
6204DDUx2 63042
6204DDUx2 63042
6203DDUx2 630322
6203DDUx2 63032
6203DDUx2 63032
6203DDU  6303DDU
62052 62052
6205DDU  6205DDU
BEA487  6028DDU
6203DDUx2 630322
6204DDU  6204DDU
6204DDUx2 63042
6206DDU  6028DDU
6206DDU  6028DDU

6203DDU
6203DDU
6203DDU
6203DDU
63032
63032
63032
6005Z

6203Z 63032
62032 63032
6203DDUx2 6303DDU
6228DDU
6228DDU
6228DDU
63032 630322
6304DDU  6304DDU
6304DDU  6304DDU
6304DDU  6304DDU
BEA456
6228DDU  6028DDU
6228DDU  6228DDU
63042 63042
6204DDU  6304DDU
6205DDU  6205DDU
BEA456  6028DDU
BEA456  6028DDU
BEA456  6228DDU
BEA456  6228DDU
BEA456  6228DDU
6203Zx2  6303Z
6203DDUx2 6303DDU
63042
63042
6203DDUx2 6303Z
6203DDU  6303Z
630422 630422
63042 6304DDU
63042 6304DDU
63042 630422
6304DDU  6304DDU
6022DDU
630472
630422
6304DDU  6304DDU
6204DDU  6304DDU
6204DDU  6304DDU
BEA456  6028DDU
6304DDU



WHEEL BEARINGS APPLICATION GUIDE

FRONT SPOCKET REAR WHEEL FRONT SPOCKET REAR WHEEL
MAKE & MODEL YeAR L/H & R/H CARRIER LeFT RIGHT MAKE & MODEL YEAR L/H & R/H CARRIER LeFT RIGHT
XZV1300 08-11 6022DDU IT175) (5X8) 82 6202DDU  nONE 62027 63027
XV1600A Wildstar 01-03 6022DDU TY175 (525) 77-80 63012 NONE 63022 62027
MTO1 05-10 6022DDU IT200L/N (43G) 84-85 6202DDU  NONE 62032 6203DDU x2
VMX1700 09-10 6022DDU TW200 94> 6202DDU 6203DDU  6203DDU
XV1700 Roadstar Warrior 04 6022DDU YFM200N/DX (24W) - L/H 85-88 6003 NONE 6008 0.E.M.ONLY
XV1700 06-11 6022DDU YFM200N/DX (24W) - R/H 85-88 6203
XV1900 06-11 6022DDU YFM200DXW (3GC1) - L/H 89 6003 NONE 6008 0.E.M.ONLY
PLEASE NOTE :- YFM200DXW (3GC1) - R/H 89 6203
BEA456 = BKM354220-1UU YFM2255/T/U (1NV) 86-88 6203DDU  NONE 6008 0.E.M.ONLY
BEA487 = 6206-23/4YD-2RS IT250G (3R7) 80 6202DDU  nONE 6203DDUx2 6203DDU x2
IT250H/ (4V5) 81-82 6202DDU  NONE 6004Zx2  6004Z x2
gl || | poEm 77 S0 Nowe staz_ gz
s 50 ooew o s s o = L b b
YZ50)/K (5X7) 82-83 B . e TYZ250R (4GG) 93 6202DDU nONE 63022 62022
YF60S (1HN) 87-90 6002DDUx4 NONE 60052 60052 WR250D/E ooz T RO
YT60 Tri-Zinger 84-85 6001DDU  NONE NONE 6005x2 | ooco o105 Eooanel B
:mii/s ’\('];S/ T/U (21W) 83'3§ z:ggznou :g?\f g;gg zggizDDU WR250F 05-12 6904DDU 6022DDU  6222DDU
V0 o~y o 63012 63012 YZ250D (1W3) 77 6202DDU  nONE 6203DDUx2 6203DDU x2
YFMB08 (55%) <o, o " . YZ250E (2K7) 78 6202DDU  NONE 6203DDUx2 6203DDU x2
Y2800 (170) - o R YZ250F (2X4) 79 6202DDU  NONE 6203DDUx2 6203DDU x2
Y280E (215) = o 63012 63012 YZ250G (3R4) 80 6202DDU  NONE 6203DDUx2 6203DDU
YZ80F (26) —o TR o DR YZ250H (4V3) 81 6202DDU  NONE 6004Zx2  6004Z x2
Y2806 (3R1) = R 63012 63012 YZ250J (5X5) 82 6202DDU  NONE 6004Zx2  6004Z
YZ80H (4V1) 81 6001DDU NON:  6301DDU 63010Du (220K (24Y) 83 S
Y2801 (5%2) = N T YTy YZ250L (43N) 84 6202DDU  NONE 6004Zx2  6004Z x2
YZ80K (22W) 83 6001DDU  NONE 63020DU 63020Dy 220N (56A) 55 A N
YZ80L (43K/39K) -~ Lo €301z 600Dpux Y2505 (1LV) 86 6202DDU  NONE 6004Zx2  6004Z x2
YZ80N (58T) o Eo i 63012 6oowDDUx 22507 (2HH) 87 6202DDU  NONE 6004Zx2  6004Z x2
Y2805 (1LR) e 63012 6oolDDUx 2250V (VM) 88 6202DDU  nONE 6004Zx2 60042
YZ80T (2HF) Y oo | 63012 6001DDUy Y2250V (3IED) 89 6202DDU  NONE 6004Zx2  6004Z
YZ80U (2VE) = BN I 63012 6001DDUy YZ250A (3PS2) 90 6202DDU  NONE 6004Zx2  6004Z
Y280V (3MKL3MM1) 89 6001DDU NON:  6301Z  6001DDUxx 22308 (3XK) 9 e N e
YZ80A (3MK2/3MM2) 90 6001DDU NON: 63012 6001DDUxz 22500 (4DA) 9260052 |NONE | 6004Zx2 | 60042
Y2808/D 9192 B001DDU" NONE 63012 6001DDUx YZ250E (4EW) 93 6003DDU  NONE 6004Zx2  6004Z
YZ80E (4ES) 936201 NON:  6202DDU 6002DDU Y2250 3 e
Y280 94-01 6201DDU NON:  6202DDU 6002DDU Y2250 3698 B R
¥285 02-11 6201DDU NON:  6202DDU 60020DU  YZ250F 9511 B £222000x; 602200
YZ100E (2K5) 73 63012 I 63022 62027 YZ250WRW 89 6202DDU  NONE 60042 60042
YZ100F (2W5) 79 63012 T 63022 62022 YZ250WRA (3RB2) 90 6202DDU  NONE 60042 60042
YZ100G/H (3R2) 30-31 6301Z AT 63022 62022 YZ400D (1W4) 77 6202DDU  nONE 6203DDUx2 6203DDU x2
YZ100J/K (5X3) 82-83 63012 NONE 63022 62022 YZ400E (2K8) 78 6202DDU  nonE 6203DDUx2 6203DDU x2
YZ100L 84 63012 NONE 63022 62022 YZ400F (ZXS) 79 6202DDU  nonNE 6203DDUx2 6203DDU x2
[T125G/H/) (3R9) 80-82 6301Z NONE 63022 62022 IT425G (3R8) 80 6202DDU  nonNE 6203DDUx2 6203DDU x2
Y125 32 63012 TN 63022 62022 IT425H/) 81-82 6202DDU  NONE 6203DDUx2 6203DDU x2
WR125 R 09 6202DDU WRA50F 03-10 6904DDU 6222DDU  6022DDU
YZ125C (537) 76 6202DDU  1ONE 63022 62022 YZAS0F 03-08 6904DDU 6222DDU  6022DDU
YZ125D (1W1) 77 6202DDU  1ONE 63022 62022 YZA50F 09-11 6904DDU
YZ125E (2K6) 78 6202DDU  NONE 63022 62022 IT465H/J (4V6) 81-82 6202DDU  NONE 6004Z x2  6004Z x2
YZ125F (2X3) 79 6202DDU  NONE 62027 62022 YZ465G (3R5) 80 6202DDU  NONE 6203DDUx2 6203DDU x2
YZ125G (3R3) 80 6202DDU  NONE 6302Z 62022 YZ465H (4V4) 81 6202DDU  nONE 6004Z x2  6004Z x2
YZ125H (4V2) 81 6202DDU  NONE 63022 62022 IT4A90L (26A) 84 6202DDU  NONE 6004Z x2  6004Z x2
YZ125) (5X4) 82 6202DDU  NONE 6203DDU  6203DDUx2 YZ490H 81 6202DDU  nONE 6004Z x2  6004Z x2
YZ125K (24X) 83 6202DDU  NONE 6203DDU  6203DDUx2 YZ490J (5X6) 82 6202DDU  NONE 6004Z x2  6004Z x2
YZ125L (43M) 84 6202DDU  NONE 6203DDU  6203DDUx2 YZA90K (23X) 83 6202DDU  NONE 6004Z x2  6004Z x
YZ125N (55Y) 85 6202DDU  NONE 6203DDU  6203DDUx2 YZASOL (40T) 84 6202DDU  NONE 6004Z x2  6004Z x2
YZ125S (1LX) 86 62022 NONE 6004Z x2 6004Z YZ490N (57H) 85 6202DDU  nonE 6004Z x2  6004Z x2
YZ125T (2HG) 87 62022 NONE 6004Z x2 60042 YZ490S (1LV) 86 6202DDU  nONE 6004Z x2  6004Z x2
YZ125U (2VN) 88 62022 NONE 6004Zx2  6004Z YZ490T (2HJ) 87 6202DDU  NONE 6004Zx2  6004Z x2
YZ125V (3/D1) 89 62022 NONE 6004Zx2  6004Z YZ490U (2WH) 88 6202DDU  nONE 6004Zx2  6004Z x2
YZ125A/B/D 90-92 62022 NONE 6004Z x>  6004Z IT500G/H 80-81 6202DDU  NONE 6004Zx2  6004Z x2
YZ125E (4EX) 93 6003DDU  NONE 6004Z x>  6004Z WR500D/E (4AA) 92-93 6202DDU  NONE 6004Zx2  6004Z
YZ125F 94-95 6003DDU  NONE 600422  6004Z TT600 83 6202DDU  NONE 60042 60042
Y7125 96-98 6904DDU  NONE 6004DDUx2 6004DDU  YZF / WRF MODELS 98 6904DDU 6004DDUx2 6004DDU
Y7125 99-10 6904DDU 6222DDUx2 6022DDU  YZF / WRF MODELS 99-03 6904DDU 6222DDUx2 6022DDU
Yz125 11-12 6904DDU
IT175G/H (3R6) 80-81 6202DDU  NONE 62022 63022

web: www.staniforths.co.uk |

Email: sales@staniforths.co.uk

430

BEARINGS




MaAke AND MODEL Year LerT HAND  RIGHT HAND  MAKE AND MODEL Year LerT HAND  RIGHT HAND
HONDA CD 175 71-78 N/A 6305
C50/27Z / LAC-G 75-89 6304 6304 ATC 185 79-82 6328 6328
C50CUB 82-86 6304 6304 CD 185 T BENLY 78-82 6305 6305
CB50)J 78-80 6304 6304 XL 185 S 79-84 6328 6328
CR 50 RD-RF 83-85 6222 6222 ATC 200 81-84 6328 6328
MB 50 80-82 6222 6204 CB 200 76-79 N/A 6305
MBX 50 SD 83-86 6205 6205 CD 200 T BENLY 79-86 6305 6305
MT 50 SA/F/G/J/L 80-93 6222 6204 CM200T 80-84 6305 6305
MTX 50 82-86 6222 6204 MTX 200 R 83-86 6228 6322
NB 50 ME / MF 84-88 N/A 6203 TL 200 76-78 6328 6328
NC 50 EXPRESS 79-85 6004 6004 TLR 200 D-H 83-86 6328 6328
v ND 50 MELODY 81-85 6004 6004 TRX 200 94-95 6328 6328
w NE 50 VISION 85-90 N/A 6203 XR 200 RA - RE 80-84 6328 6328
Z NP 50 MINI MELODY 83-84 6004 6004 TLM 220 RJ 88 6328 6328
—_— NS 50 DB MELODY 81-85 6004 6004 ATC 250 RB - RG 81-86 6328 6328
z NT 50 MINI MEL / VIS 85-92 N/A 6203 CB 250 N (two fifty) 92-96 6305 6305
< NU 50 RUNAWAY 82-85 6004 6004 CB250RSA /D 80-84 6306 6306NR
Ll NV 50 STREAM 83-86 6004 6004 CR 250 RZ /RA - RT 79-96 6328 6328
o NX 50 CAREN 81-83 6004 6004 CR 250 97-03 6328 6328
PA 50 CAMINO 78-92 6004 6004 CRM 250 RK - RM 89-91 6328 6328
PC 50 79-82 6202 6203 CD 250U 88-94 6305 6305
PF 50 75-78 6202 6203 CJ250T 77-79 6328 6306
PX / PXR 50 81-87 6004 6004 CL 250 82-84 6306 6306
QR 50 82-95 6004 6004 CMX 250 96-ON 6305 6305
SA 50 MET - IN 88-95 N/A 6203 TL 250 79 6306 6306
SH50 CITY EXPRESS 84-96 6004 6005 TLM 250 89 6328 6328
SS50 (ALL) 78-80 6304 6304 TLR 250 F-H 85-87 6328 6328
ST 50 DAX (monkey) 88-93 6304 6304 TRX 250 RG -RK 86-89 6328 6328
TLM 50 F 85-ON 6205 6205 XL 250 K 78-79 6306 6306
Z50R 79-85 6304 6304 XL 250 RC 82-84 6306 6306NR
CR 60 RD-RG 83-86 6222 6222 XL 250 RE-RL 84-90 6328 6328
ATC 70 78-85 6304 6304 XL 250S 78-83 6306 6306
Cc70/2z2] 22 75-82 6304 6304 XR 250 SZ / SA 79-80 6328 6328
C70C/CuUB 82-86 6304 6304 XR 250 RB - RT 81-96 6328 6328
CF 70 CHALY 77-86 6304 6304 XR 350 RD / RE 83-84 6328 6328
ST 70 77-81 6304 6304 CR 450 RB - RD 81-83 6328 6328
NF 75 78-84 6004 6004 CB500T 75-77 6306 6306
XR 75 75-79 6304 6304 CR 500 RE - RT 85-96 6328 6328
CR80R 80-02 6322 6322 CR 500 97-02 6328 6328
MBX / MTX 80 83-86 6205 6205 FT 500 C 82-85 6307 N/A
NH 80 LEAD/VISION 83-96 6005 6005 XR 500 SZ / SA 79-80 6307 6307
XR 80 79-93 6304 6304 XR 500 RB 81 6307 6307
CR85 3 6322 6322 XR 600 RE - RT 84-96 N/A 6307
C90/2z 75-84 6305 6305
Co90C/CuB 84-96 6304 6304 KAWASAKI
TRX 90 94-95 6304 6304 AE 50 82-86 6304 6304
CB 100 N 78-87 6328 6328 AR 50 81-96 6304 6304
H100A/S 80-93 6228 6228 KX 60 A1-2 / B1-12 83-99 6304 6304
XL 100SZ /SA / SB 78-85 6322 6322 KX 65 00-03 6304 6304
ATC 110 79-84 6305 6305 AE 80 81-87 6304 6304
ATC 125 84-87 6305 6305 AR 80 81-92 6304 6304
CA 125 REBEL 95-96 6305 6305 KX 80 E2-3 / G1-2 84-87 6304 6304
CB 125 78-79 6328 6328 KX 80J2 /L1-3 87-90 6304 6304
CB 125 RS 83-86 6328 6328 KX 80 R1-6 91-96 6304 6304
CB125T/TDC 78-89 6305 6305 KX80 97-00 6304 6304
CD 125 T BENLY 82-85 6305 6305 KX85 01-Mar 6304 6304
CG 125K 78-83 6328 6328 KC100C1-4 79-86 6204 6204
CG 125 BRAZIL 84-96 6328 6328 KE 100 A7-10/B1-15 78-96 6204 6204
CH 125 SPACY 83-87 6328 6328 KH 100 A2-4/G2-8 81-92 6204 6204
CM 125 82-86 6305 6305 KM 100 A4-6 78-82 6204 6204
CR125M 76-78 6305 6322 KX 100 N1/A1-2/B1-6 88-96 6304 6304
CR125 RZ 79 6304 6304 AR 125 A1-8 / B1-8 82-93 6205 6305
CR 125 RA-RT 80-96 6322 6322 KDX 125 A1-2 / B1-2 90-94 6205 6305
CR 125 97-03 6322 6322 KE 125 A4-12 76-88 6204 6304
CT125C 82-84 6328 6328 KH 125 Al1-4 77-80 6204 6304
MBX / MTX 125 84-94 6228 6322 KH 125 K1-9 83-96 6204 6204
NH 125 LEAD 83-87 6205 6205 KH 125 L 83-86 6204 6304
NS 125F /R 86-93 6228 6322 KMX 125 A1-7 / B1-8 86-96 6205 6305
NSR 125 F /R 92-96 6305 6322 KX 125 C1/D1/E1-2 84-87 6305 6322
SL 125 76-78 6328 6328 KX 125 F1/G1/H1-2 88-91 6322 6322
TL125 78-79 6328 6328 KX 125 J1-2/K1-3 92-96 6322 6322
TRX 125 87-88 6328 6328 KX 125 97-03 6322 6322
XL125K/S 78-82 6328 6328 KE 175 B1-4 / D1-5 76-83 6205 6305
XL125R 82-87 6328 6328 KDX 200 A1-3/C1-3 84-88 6305 6305
CB 175K 74-76 N/A 6305 KDX 200 E1-4 86-92 6305 6305

431 telephone: 0114 2462027 | Fax: 0114 2454232



MAKE AND MODEL Year LerT HAND  RIGHT HAND  MAKE AND MODEL Year LerT HAND  RIGHT HAND
KMX 200 88-92 6205 6305 RM 125 96-98 6322 6322
KLF 220 A1-6 88-96 6304 6304 RM 125 99 6205 6205
Z 200 Al1-6 77-83 N/A 6306 RM 125 00-03 6222 6222
ER 250 B1-3 83-90 6305 6305NR TS 125 K/L/M/A/B 72-77 6305 6304
KDX 250 B1-3 79-84 6305 6305 TS 125 C / ERT/ERX 78-84 6305 6304
KDX 250 D1-2 91-95 6328 6328 TS 125 ERZ 82-86 6205 6304
KL 250 A1-4 78-82 N/A 6306 TS 125N 84-86 6305 6304
KL 250 C1-2 83-85 6306 6306 TS 125 RL-RT 90-96 6305 6305
KLR 250 D2-11 84-96 6306 6306 TS 125X 84-90 6205 6322
KX 250 A4-7/B1-2 78-82 6305 6305 LT 160 E 89-90 6207 6328
KX 250 C1-2 / D1-2 83-86 6305 6305 LT-F 160 L-S 90-95 6207 6328
KX 250 E1/F1/G1/H1 87-90 6328 6328 PE 175 C/N/T/X/Z 78-82 6304 6322 (7))
KX 250 H2/J1-2/K1-3 91-96 6328 6328 LT 185 E 89-91 6207 6328 w
KX 250 97-03 6328 6328 TS 185 K/L/M/B/C 73-78 6205 6322 2
7250 A1-3/B1-2 81-83 6305 6305NR TS 185 ER 79-85 6205 6322 —_—
Z250C1-2/G1-2 81-84 N/A 6306 DR 200 SJ-L 88-91 6207 6328 x
GPZ 305 A1/ B1-10 83-96 6305 6305NR GN 250 87-96 6207 6306 <
KX 500 A1-2/B1-2/C1 83-87 6306 6306 LT230 EL/GEF-G 85-92 6207 6328 L
KX 500 D1 /E1-8 88-96 6306 6306 LT-F 230G/H 86-87 6207 6328 o
KX 500 97-03 6328 6328 LT 250 EFF-G 85-86 6207 6328
LT 250 EFF-G 85-86 6207 6328
SUZUKI LT 250 RF-H 85-87 6206 6305
AE 50 STYLE 90-96 6204 6204 LT 250 RJ-RR 88-95 6305 6305
AH 50 ADDRESS 92-95 6204 6204 LT 250 K/L 89-91 6207 6328
AP 50 75-78 6204 6304 LT-FAWD 250 H-S 87-95 6207 6328
CL50 LOVE 83-87 6204 6204 PE 250 B/C/N/T/X/Z 77-82 6305 6305
CP 50 85-92 6004 6004 RGV 250 K-T 89-96 6305NR 6305
CS 50 ROADIE 82-88 6204 6204 RL 250 74-76 6305 6305
FR 50 74-86 6204 6303 RM250N/T 79-80 6305 6305
FS 50 SNIP 80-81 6204 6204 RM 250 X 81 6206 6206
FZ 50 SUzy 80-86 6204 6204 RM 250 Z/D/E/F/G/H 82-87 6206 6305
GT 50 K 77-80 6204 6204NR RM 250 88 6206 6305
JR50K 89 6203 6203 RM 250 K/L/M/N/P/R 89-94 6305 6305
LT 50 F-M 84-95 6203 6203 RM 250 S 95 6305 6305
OR 50 CHOPPER 80 6204 6204NR RM 250 96-98 6328 6328
RM 50 C/N/T/X/Z 78-82 6204 6204NR RM 250 99 6305 6305
TS 50 K 79 6204 6204NR RM 250 00-03 6328 6328
TSS50ER/ X 80-96 6204 6204NR RMX 250 K/L/M/N/P 89-93 6328 6305
ZR 50 X1 79-84 6204 6204NR RMX 250 R/S 94-95 6328 6305
RM 60 N/T/X/Z/D 79-83 6204 6204NR TS 250 K/L/M/A/B/C 73-78 6306 6305
RM 65 3 6304 6304 TS 250 ERN/Y/X 79-83 6306 6305
FR 70 74-76 6204 6304 TS 250 XE=K 85-89 N/A 6206
CP 80 85-93 6204 6204 DR 350 91-96 6207 6306
CS 80 ROADIE 83-87 6204 6204 LT -F 300 J/K 88-90 6305 6305
DS 80 N 92-93 6204 6204NR RL 325 74-76 6305 6305
LT 80 H-M 87-95 6204 6204NR SP 370 77-80 6306 6306
FR 80 76-87 6204 6304 DR 400 79-82 6306 6306
RM 80 B/C/N/T/X/Z 77-82 6204 6204NR GN 400 TT 80-82 6306 6306
RM 80 HD-F / XD-F 83-85 6204 6204NR PE 400 T/Z/X 79-82 6207 6306
RM 80 XG-P 86-93 6304 6304 RM 400 C/N/T 78-80 6306 6306
RMS80R/S 94-95 6304 6304 SP 400 80-82 6306 6306
RM 80 96-02 6304 6304 RM 465X /7 6207 6306
RM 85 3 6304 6304 RM 500D /E 83-84 6207 6306
A 100 74-80 6204 6304
GP 100 78-93 6205 6304 YAMAHA
RM 100 A 76 6205 6304 CA 50 SALIENT 83-87 6204 6204
RM 100 B/C/N/T/X 77-81 6205 6322 CG 50J0G 88-93 6204 6204
TS 100 K/L/M/A/B 73-77 6204 6204 CW 50 B-WIzz 90-95 6204 6204
TS 100 C ERN/T/X 78-84 6305 6304 CY 50 JOG-IN 90-96 6204 6204
TS 100 ERZ 82-89 6205 6304 DT 50 M / MX 78-95 6204 6204
CS 125 ROADIE 83-87 6207 6305 FS1E / DX / FS1 / DX 74-92 6204 6303
DR 125 SZ/D/E/F/H/) 82-93 6207 6328 LC 50 BOP 80- 6203 6203
GN 125 94-96 6207 6328 MA 50 QT50 80-84 6203 6203
GP 125 78-89 6205 6304 MJ 50 TOWNY 82-83 6203 6203
GS 125 82-95 6207 6328 MS 50 85-87 6203 6203
LT 125 D-H 83-87 6207 6328 PW 50 80-96 6203 6203
RG 125 UCG/UH/U)J 85-92 6305 6305 RD 50 M / MX 78-89 6204 6204
RG 125 UN 92-94 6328 6305 SA 50 PASSOLA 80-86 6203 6203
RG 125 F-UN/P/R 92-95 6328 6305 T 50 TOWNMATE 86-89 N/A 6304
RM 125 M 75 6205 6304 TY50 M 77-80 6204 6204
RM 125 A/B/C/N/T/X 76-81 6205 6322 V 50 74-83 6204 6204
RM 125 7/D/E/F/G/H82-87 82-87 6205 6322 YSR 50 87-89 6204 6204
RM 1251 88 6205 6322 YZ 50 G/H/J/K 80-83 6204 6204
RM 125 K/L/M/N/P 89-93 6322 6322 ZE 50 ZEST 93-95 6204 6204
RM 125 R/S 94-95 6322 6322 YF60S 87-90 6203 6203

web: www.staniforths.co.uk | Email: sales@staniforths.co.uk 432



MaAke AND MODEL Year LerT HAND  RIGHT HAND  MAKE AND MODEL Year LerT HAND  RIGHT HAND
YT 60 TRI-ZINGER 84-85 6203 6203 XT 500 77-83 6306 6307
V70/75 76-77 6204 6204 XT 550 82-84 6306 6307
CV 80 BELUGA 82-86 6204 6204 SRX 500 86-89 N/A 6307
DT 80 MX 81-87 6204 6204 WR 500 D/E 92-93 6306 6306
LB2 80 BOP 81-86 6204 6204 TT 600 83- N/A 6307
PW 80 83-96 6205 6205 XT 600 84-89 6206 6307
RD 80 MX / LC 82-86 6204 6204 XT 600 E 90-96 6206 6307
T 80 TOWNMATE 83-96 N/A 6304 XT 600 Z TENERE 84-92 6206 6307
TY 80 77-90 6205 6204 YZF / WRF MODELS 98-03 6306 6306
V 80 79-87 6205 6205
YFM 80 87-92 6204 6204 TOMOS
W) YZ80D/E/F/G/H/) 77-82 6204 6204 TOMOS 6203 6203
w YZ 80 K/L/N/S/T/U 82-88 6204 6204
Z YZ 80 V/A/B/D/ 89-93 6204 6304 PUCH
—_— YZ 80 94-95 6204 6304 MAXI 6203 6203
O YZ80LWF 94-95 6204 6204
< Y280 96-01 6204 6304 PEUGEOT
Wi YZss 02-Mar 6204 6304 Buxy 50/M/RM BB13055B BB13055B
e DIREL 78-ON 6205 6205 Elyseo 50 BB13055B BB13055B
DT 100 76-85 6304 6304 Speedake 50/M BB13055B BB13055B
RS 100 75-80 6304 6304 Speedfight 50/M/MP BB13055B BB13055B
RT 100 94-96 6304 6304 Speedfight 50/N/NP/NPGP BB13055B BB13055B
RXS 100 83-96 6205 6304 Speedfight 50/LND/LNDP BB13055B BB13055B
YB 100 78-92 6304 6304 Speedfight 50LC/LCD/LCDP/LCT BB13055B BB13055B
YZ 100 E/F/G/H/J/K 78-83 6205 6304 Speedfight 50GP BB13055B BB13055B
YZ 100 L 82-83 6205 6304 Squab 50 BB13055B BB13055B
BL 125 BELUGA 85-87 6205 6205 Squab 50/ (Elite) BB13055B BB13055B
DT 125 E / MX 78-83 6205 6304 Trekker 50/P/R/RP BB13055B BB13055B
DT 125 LC MK1/2/3 82-89 6205 6304 Trekker 50/SB/SB2/SB2P BB13055B BB13055B
IT 125 G/H/J 80-82 6205 6304 Trekker 50/UB/UBP BB13055B BB13055B
RD 125 DX 75-82 6304 6304 Vivacity 50/P/SL/SLP BB13055B BB13055B
RD 125 LC MK1/2/3 82-88 6205 6304 Zenith 50/L/M/LM/N/LN BB13055B BB13055B
RS 125 75-81 6205 6304 Zenith 50LS (Sport) BB13055B BB13055B
SR 125 82-96 6305 6306 Elyseo 100 BB13096 BB13096
TY 125 82-ON 6205 6304 Speedfight 100/LC/ADT/J/M/MP BB13096 BB13096
XT 125 82-86 6305 6306 Speedfight 100/N/NGP/P BB13096 BB13096
YZ 125 C/D/E/F 76-79 6205 6304 Speedfight 100/LCD/LCDP/LCT BB13096 BB13096
YZ 125 G/H/J/K/L/N 80-85 6304 6205 Trekker 100/J/P BB13096 BB13096
YZ 125 S/T/U/V/A/B 86-91 6322 6322
YZ 125 D/E/F 91-96 6322 6322
DT 175 / MX 74-86 6205 6304
IT 175 G/H/) 80-82 6304 6205
TY 175 77-80 6205 6304
IT 200 84-85 6205 6205
RD 200 DX 74-84 6205 6305
RS 200 79-85 6205 6305
YFM 200 85-88 6305 6306
YFM 200 89 6305 6305
YFM 225 86-88 6305 6305
DT 250 / MX 75-82 6206 6206
IT 250 G/H/J 80-82 6206 6206
SR 250 93-95 6305 6306
TY 250 D/E/H 77-81 6206 6206
TY250S /R 84-95 6206 6206
TV 2507 93-95 6305 6305 CARDED LOOSE BEARINGS
WR 250 Z 91-95 6328 6328
XT 250 80-83 6305 6306 DESCRIPTION ORDER REeF
YZ 250 D/E/F/G/H/) 77-82 6206 6206 1/4" Ball Bearings (10 pkts of 20) CBRG14
YZ 250 K/L/N/S/T 83-87 6206 6206 1/8" Ball Bearings (24 pkts per crd) CBRG18
YZ 250 U/V/A/B/D/E 88-93 6328 6328 3/16" Ball Bearings (10 pkts of 20) CBRG316
YZ 250 94-95 6328 6328 . -
YZ 250 96-03 6328 6328 532" Ball Bearings (10 pkts of 20) CBRG532
YZ 250 WRW / WRA 89-90 6328 6328
YTZ 250 N/S TRI-Z 85-86 6206 6206
XT 350 85-95 6306 6306
DT 400 / MX 75-82 6306 6306
YZ 400 D/E/F 77-79 6306 6306
IT 425 G/H/) 80-82 6306 6306
IT 465 H/J 81-82 6306 6306
YZ 465 G/H 80-81 6306 6306
IT490 L 84- 6306 6306
YZ 490 H/J/K/L/N/S 81-86 6306 6306
YZ 490 T/U 87-88 6306 6306
IT 500 G/H 80-81 6306 6306
SR 500 78-83 6306 6307

433 telephone: 0114 2462027 | Fax: 0114 2454232



DESCRIPTION YEAR ORDER REF  DESCRIPTION YeAR ORDER REF  DESCRIPTION YeEAR ORDER REF

CB10ON 77-80 SSH200 = CB250K3-K5 73-75 SSH750

CRF100F 04-06 SSH200 CB250G5 75-76 |SSH750

H100 A/S 82-92 SSH200 CB250T 78 SSH750

SL100/K1-K3 70-73 SSH200 CB250NA 79-80 SSH750

XL100/K1 74-75 SSH200 CB250NB/NDB/C 81-82 SSH750

XR100R 85-03 SSH200 CB250RSA/RSD 80-82 SSH750

ATC110 79-88 SSH200 CB250N TWO FIFTY M - Y7 92-07 'SSH200

CT110 80-84 SSH200 = CBX250RSE 84 SSH750

XL100/S 76-85 SSH200  CD250UJ/UK 88-92 SSH200
STEERING HEAD BEARING KITS  xrci25ym 84-87 SSH200 CI250T 77 SSH750
APRILIA CA125 REBEL 96-00 SSH200 CM250C 82-83 SSH200
RS50 SHoas  CB125K1-6/J/S 72-79 SSH200 CM250T 81 SSH750
RX50 95> SH045  CB125TA/TB 78-79 SSH200 CMX250C/CD 85-87 SSH200
RX50 Racing 03 SH045  CBI125RS 83 SSH200 CMX250T-X Rebel 96-99 SSH200
MX50 02-05 SH045  CB125TDC/E/) 83-89 SSH200 CR250R 82-89 SSH902

CBR125RR4 04 SSH500 CR250RE/RF/RG/RH/RJ/RK 84-89 SSH902
BMW CD125 82 SSH200 CR250 RL-RM 90-91 SSH904
ALL MODELS 59-69 SSWO055 CG125 96-04 SSH200 CR250R 92-07 'SSH905
ALL MODELS 69-07 SSW901 CG125 JAP/BRAZIL/BR-T 85-96 SSH200 CRE250 07-08 SSH905

CLR125X City Fly 99-03 SH046  CRE250R 07-08 SSH905
HONDA CM125 82 SSH200 CREF 250 R 05-07 SSH905
C50 All Models 70-88 SSHO50  cr125M/M1 74-75 SSH200  CRE F 250 X 04-10 SSH905
CS0E/LAC/E/G/ZZ/Z2 78-85 SSHO50 (CR125M 76-78 SSH200 CRE 250 Motard 02-04 SSH905
CB50)J 81 'SSH200 = CRr125 RC/RD 82-83 SSH902 CRF250R 02-09 SSH905
CF50 Chaly 78-79 SSHO050  (CR125 RE-RK 84-89 SSH902R CRF250 X 04-09 SSH905
CR50RE-RK 84-89 SSH902  CR125 RL-RN 90-92 SSH904 CRM250R 05-08 SSH905
CRES0 SSHO50  CR125 RP-RR 93-94 SSH905 CRM F 250 R 05-07 SSH905
CRF50F 04-06 SSH200 = CR125 RS-RV 95-97 SSH907 CRM X 250 ie 07-08 SSH905
MB 50 80-82 SSH200 (CR125R 98-07 SSH905 MVX250 83-84 SSH750
MBX 50 SD / SF 83-85 SSH200 = CRE125 Supermotard 02-04 SSH905 = NSR250R/F 89-93 SSH903R
MR-50/K1 74-74 SSH200  CRE125 05-08 SSH905  NX250 J/K/L 88-90 SSH902R
MT50 80-93 SSH200 CrRM125/R 05-08 SSH905 = XL250RC/RE/RF/RG/RH 82-87 SSH902
MTX50 83-84 SSH200  (CT1125 77 SSH200  XL250R 88-90 SSH902
SS50 ZK/zZB 77-80 SSH200 = MBX125 SSH200  XL250R 92-94 SSH902
CR60R 83 SSH200 MT125 74-76 SSH200 XR250 L 84-96 SSH902
C70 All Models 75-78 SSHO050  \MT125R 77-78 SSH200  XR250SZ/SA/ 79-80 SSH902
C70C/E/72 /172 78-86 SSHO50  MTX125RWD/E/F/H/L 83-94 SSH200 XR250RE/RF/RG/RH 81-87 SSH902
CF70 Chaly 82-86 SSHO50 = NS125F/R 86-93 SSH200 XR250 R 88-07 SSH908
CL70/K1-K 69-73 SSH200 = NSR125RK/L/M/N 90-94 SSH200 VT250FD 83 SSH750
CRF70F 04-06 SSH200 = NSR125 Italy Model 95-03 SSH500  VT250L 90 SSH902R
CT70 76-82 SSH200  sSL125 76-80 SSH200 VTR250 88 SSH750
CT70H/HK1 70-73 SSH200  TL125/K1/K2/S 73-76 SSH200 VTR250 89-91 SSH903
CT70/K1-K4 69-76 SSH200  XL125K/K3 78-79 SSH200  CRE X 290 ie 07-08 SSH905
SL70/K1 71-73 SSH200 = XL1255Z/SA/SB 79-82 SSH200 CRM X 290 ie 07-08 SSH905
ST70K3 77-81 SSHO050  XL125RC/RF/RH 83-86 SSH902  CRE F 300 X 04-10 SSH905
XL70 74-76 SSH200  XLR125R - W 98-99 SH046  CB350F/F1 73-74 SSH750
NF75 78-84 SSHO50  XR125L 03-07 SSH908 CB350G 73 SSH750
XL75 77-79 SSH200 = CRF150 R 07-10 SSH902R CB350/K2-K4 69-72 SSH750
XR75 73-78 SSH200  ATC185/S 80-84 SSH200 CB360T 74 SSH750
CR80G/H/K 87-89 SSH902 CD185T 78 SSH200 CB360T 75-77 SSH750
CRSOR 90-04 SSH902R CM185T 78-79 SSH200 CJ360T 78 SSH750
MB80 SSH200  XL1855Z/SA/SB 80-82 SSH200  XL/XR350R 83-89 SSH902
MBX80RFD/RSD 83 SSH200  XL185SH/SJ/SK SSH200 CB1 400F 89-91 SSH903R
MTX80/C 83-84 SSH200 ZR185 79 SSH200 CB400A 74-75 SSH750
XL80S 80-85 SSH200  ATC200 80-84 SSH200 CB40OF/F1/F2 75-79 SSH750
XR80 79-84 SSH200 CD200TA/B 79 SSH200 CB40ON/NA 78-79 SSH750
XR8OR 85-03 SSH200 CM200TA/B 80-81 SSH200 CB40ONB/NC 80-81 SSH750
CR85R 03-07 SSH902R MTX200RWD/F 83-85 N/A CB400TI/TII 78-79 SSH750
€90 All Models 75-80 SSHO50 = XL200R 83-84 SSH902  CB400T 80-81 SSH750
C90E /G/MF/MG/MN/ZZ/Z2 80-96 SSHO050 = XR200 80-84 SSH200 CBR40OOR 87 SSH903
ATC90 75-85 SSH200  XR200R 88-02 SSH908 CBR40ORR 88-89 SSH903R
€S90 SSH200 230 F Enduro 04-10 SSH902R CBX400F SSH750
CT90 68-79 SSH200 230 F Motard 04-10 SSH902R CMA400A/C/E/T 79-81 SSH750
SL90 69 SSH200 CRF230F 04-07 SSH905 = CB400 SSH750
ST90K1-K4 SSH200  ATC250R 83-86 SSH902  NS400RF/RG 85-86 SSH903R

web: www.staniforths.co.uk |

PLEASE NOTE :-
SSK904 / SSK906 COME WITH REQUIRED DUST SEALS

Email: sales@staniforths.co.uk

434

BEARINGS




7))
O
=
oc
<
wi
(aa]

DESCRIPTION YEAR ORDER REF  DESCRIPTION YEAR ORDER REF  DESCRIPTION YeEAR ORDER REF
VFR400ZG/RG 90-92 SSH903R CX650ED SSH750 CBX1000 79 SSH901
VFR400 NC21 IMPORT SSH903 CX650T TURBO 83 SSH750 CBX1000B/C 81-82 SSH903
VFR400R NC30 SSK907  GL650 SILERWING 84 SSH903 GL1000K1 77-78 SSH750
XR400 R 96-04 SSH902R NT650 J/K/L 88-90 SSH903R GL1000K2/K3/KZ 78-80 SSH903
CB450K1/K7 68-74 'SSH750 NT650 Deauvllle 98-05 SSH903R GL1000L 76 SSH750
CB450T 82 SSH750 NT650J REVERE SSH903  VF1000FE/FF 84-85 SSH903R
CM450A/C/E 82-83 SSH750 NTV650 88 SSH903 VF1000F2F BOL DOR 85 SSH903R
CMX450C 86-87 SSH903 NTV650M-T REVERE 92-96 SSH903 VF1000RE/RF/RG 85-86 SSH903R
CR450R 81 SSH902 NX650J/K DOMINATOR 88-89 SSH902R VTR1000 FIRESTORM 97-06 SSH903R
CRE450 Motard 02-10 SSH905 NX650 90 SSH902R XL1000 X VARADERO 99-10 SSH903R
CRE F 450 X 05-08 SSH905 NX650L-T 90-99 SSH902R CB1100RB/RC 82-84 SSH903
CRE X 450 ie 07-08 SSH905 SLR650V 97 SSH902R CBR1100XX BLACKBIRD 96-08 SSH903R
CRF450 R 02-08 SSH905 XL650V TRANSALP 00-07 SSH902R GL1100C/1C/DC/AC SSH903
CRM F 450 R 05-08 SSH905 XR650 AFRICAN TWIN 85-96 SSH902R GL1100D2D/AD/1A/DA SSH903
CRM X 450 ie 07-08 SSH905 XR650 L 93-05 SSH902R GL1100RB/RC/D/1D/DD SSH903
CR480R 82-83 SSH902 XR650R 00-07 SSH904 ST1100 90-01 SSH903R
CRE X 490 ie 07-08 SSH905 XRV650 J/K 88-89 SSH902R ST1100A 92-01 SSH903R
CRM X 490 ie 07-08 SSH905 NT700 V Deauville 06-10 SSH903R VF1100C 83-86 SSH903R
CB500/K1/K2 71-73 SSH750 VF700F 84-85 SSH903R VF1100S 84-85 SSH903R
CB500T 75-76 SSH750 VF700S 84-85 SSH903R VT1100C 85-05 SSH903R
CB500R-Y7 TWIN 94-07 SSH903R VFR700F/F2 SSH903R V/T1100ClI 95-99 SSH903R
CB500S 98-03 SSH903R VT700C 84-85 SSH750 VvT1100CIII 98-99 SSH903R
CR500R 84-89 SSH902R CB750A 76-78 SSH750 GL1200 84-88 SSH903
CR500R 90-00 SSH904 CB750C 80-82 SSH903 (CB1300 03-07 SSH903R
CX500Z/A/B/C 78-83 SSH750 CB750F1/F2 75-78 SSH750  ST1300 PAN EUROPEAN 02-08 'SSH903R
CX500EC EURO SPORT 82 SSH750 CB750F2N-T RETRO 92-03 SSH903R VTX1300 03-07 SSH903R
CX500T TURBO 83 SSH903 CB750FA/FB/FC/F2C 79-84 SSH903 GL1500 88-90 SSH903
FT500 ASCOT 82-83 SSH750 CB750K1-K7 69-78 SSH750 GL1500 97-00 SSH903
CB500F/F2 SSH750 CB750KZz 79 SSH901 GL1500A 91-96 SSH903
GL500 SILVERWING 82 SSH750 CB750KZ DOHC SSH903  GL1500SE 91-00 SSH903
VF500C 84-85 SSH903R CB750L 79 SSH902 VTX1800 01-07 SSH903R
VF500F 84-86 SSH903R CB750SC 82-83 SSH903R

VF500FE/FIIE/FF SSH903R CB750SC 84-86 SSH903 KAWASAKI

VT500 ASCOT 83-84 |SSH750 CBX750FE/F2F 84-86 SSH903R KX60 A1-A2 83-84 |SSK125
VT500C 85-86 SSH903R CBX750FE BOLDOR 85 SSH903R KX60 B1-B12 85-96 SSK125
VT500ED SSH750 VF750CC/CD/CE SSH903  KX60 B13-B17 97-03 SSK125
VT500C/FT 83-84 SSH750 VF750C 82-83 SSH903  KX65 00-09 SSK904
XBR500 85-88 SSH750 VF750C 93-98 SSH903R AR80A1 /C1-C9 81-92 SSK125
XL500R 82 SSH902  VF750CP 93 SSH903  KX80 G1/G2/)1 86-88 SSK904*
XR500R 81-94 SSH902 VF750FD/FE 83-84 SSH903R KX80 89-00 SSK904*
CB550F 75-77 SSH750 VF750SC/SD/CC SSH903  KX85 00-09 SSK904*
CB550K/K1 74-78 SSH750 VF750S 82-83 SSH903 KE100A7-A10/B1-B15 78-96 SSK125
CB550SC 83 SSH750 VF750S 84-85 SSH903R KH100A2-A4 / G2-G8 78-92 |SSK125
CBX550F 82-83 SSH750 VFR750C 83 SSH750 KM100A4-A6 78-82 SSK125
CB600 FW-FY/F1-F7 HORNET 98-07 SSH903R VFR750F/F2 82-87 SSH903R KX100 95-05 ' SSK904*
CB600 FSY-FS2 HORNET VFR750R RC30 88-92 SSH903R AR125A1-A8 / B1-B8 82-93 ' SSK125
(Faired) 00-02 SSH903R VFR750FG-FV 86-97 SSH903R BN125A1/A2 98-07 SSK400
CB600 Hornet F /S F2 07-10 SSH903R VT750C V/W/X 97-99 SSH903R KE125A4-A12 76-88 SSK200
CBF600 04-07 SSH903R VT750C2 V/W/X 97-99 SSH903R KH125A1-A4 77-80 SSK200
CBF600 08 SSH903R XLV750RF 85 SSH902R KH125K1-K9 /L1 83-96 SSK125
CBR600FH-FL 87-90 SSH903R XR750 AFRICAN TWIN 90-03 SSH902R KMX125A1-A7 86-95 SSK200
CBR600OFM-FW 91-98 SSH903R XRV750L-Y A/TWIN 90-99 SSH902R KMX125B1-B8 86-96 SSK200
CBR600FX-FY 99-00 SSH903R XRV750 00-03 SSH908  KX125 A4-A7 78-81 SSK904
CBR600OF1 - F7 01-07 SSH903R PC800C 89-98 SSH903  KX125B1/B2/C1 82-84 SSK906*
CBR600RR3 - RR9,RRA 03-10 SSH903R VT800 88-89 SSH903R KX125D1/E1/E2 85-87 SSK906*
NTV600J-M REVERE 88-91 SSH903 VFR8OOFI 98-99 'SSH903R KX125F1/G1 88-91 SSK906*
VT600C) 88-89 SSH903R VFR8OOFY - F8 00-08 'SSH903R KX125H1/H2 90-91 SSK906*
VT600CN-CY 92-00 SSH903R CB900OF2 - F7 HORNET 02-05 SSH903R KX125 92-07 SSK905
VT600CD R/S/T 94-96 SSH903R CB90OF Z 79 SSH901 KE175B1-B4 76-78 SSK200
XL600OR 83-86 SSH902R CB90OF FA/FB/F2B 80-82 SSH903 KE175D1-D5 79-83 SSK200
XL600R F-K 85-96 SSH902R CB90OFC/FD/F2C/F2D 83-84 SSH903 KDX200A1-A3 83-85 SSH901
XL600V 87-00 SSH902R CBR90ORRN-RR3 92-03 SSH903R KDX200C1-C3 86-88 SSH901
XR600 R 85-00 SSH902R CB1000 BIG ONE 93-97 SSH903 KDX200E1/E3 89-91 SSH901
CB650 79-82 SSH750 CB1000C 83 SSH903 KDX200 95-02 SSK906*
CB650C 80-81 SSH750 CB100OF 95 SSH903R KMX200 88-92 SSK200
CB650SC 82-83 SSH750 CB100OR 08-10 SSH903R Z200A1-A6 77-83 SSK200
CBX650ED/SCD SSH750 CBR1000FH-FX 87-99 SSH903R KDX220 99-05 SSK906*
CX650C 83 SSH750 CBR100ORR-4-RR7 Fireblade 04-07 SSH903R EL250B2/B3 88-89 SSK400
435 telephone: 0114 2462027 | Fax: 0114 2454232



DESCRIPTION YeAR ORDER REF  DESCRIPTION YeAR ORDER REF  DESCRIPTION YearR ORDER REF
EL250D4-5 93-96 SSK400 ER500E1-E3 97-99 SSK400 ZR 750 K6 (ZR7S) 06-07 SSK907
EL250E1-E2 91-93 SSK400 H1C/D/E/F-500 72-75 SSK100 KZ750L3 83 SSK902
ER250250B1-3 83-88 SSK100 KH500A8 76 SSK100 KZ750N1-N2 82-83 SSK902
EX250E/E2 86-87 SSK400 KLE500A1-5 91-99 SSK902 KZ750R1 82 SSK902
EX250F2-F11 88-97 SSK400 KX500A1/A2 83-86 SSH901 VN750A2-5 86-89 SSK902

GPX250 88-96 SSK400 KX500B1/B2 85-86 SSH901 Z750Y1 82 SSK400

KH250A5 76 SSK100 KX550C1/D1 87-88 SSH901 ZR750 ZEPHYR 92-98 SSK902
KH250B1-5 77-82 SSK100 KX500E1/E3 89-91 SSH901 ZR750F 99-03 SSK902

KL250A1 / C1-C2 78-82 SSK904* 7500B1-2 79-80 SSK400 ZX750A1-A2 83-84 SSK902
KL250D2-D8 85-91 SSK902 GPZ550D1 81 SSK400 ZX750E1-ES 84-85 SSK902
KLR250D2-16 84-00 SSK902 GPZ550H1-2 82-83 SSK902  ZX750F1-F3 87-89 SSK902 (7,
KLX250 94-97 SSK906* GPZ550A1-4 84-87 SSK902  7X750G2 85 SSK902 w
KR1/KR1S 89-93 SSK902 GT550G1-9 83-01 SSK902 ZXR750H1-2 88-89 SSK902 z
KX250A5-A 79-81 SSH901 Z550A1 80 SSK400 ZXR750J1-J2 91-92 SSK907 —
KX250B1/C1 82-84 |SSH901  7550C1/2 LTD 80-84 SSK400 ZXR750K1-K2 91-92 SSK907 x
KX250D1/D2/E1 85-87 SSH901 7550G6 SSK902  ZXR750L1-2 93-95 SSK907 <
KX250F1/G1 88-91 SSH901 Z550M1-LTD 83 SSK902 ZRXR750M1-2 93-95 SSK907 l!'.!'
KX250H1/H2 90-91 SSH901 ZR550A1-2 Z550F 83-84 SSK902  ZXR750N1-N2 96-02 SSK907

KX250 92-07 SSK905 ZR550B1/B2 90-91 SSK902 ZXR750P1-P7 96-03 SSK907

KX250 F 04-07 SSK905 ZR550B2-6 ZEPHYR 91-99 SSK902 VNS8O0OA1-2 /B1- CLASSIC 95-07 SSK902
KXT250A1/A2 84-85 'SSH901  ZX550A1/A2 84-85 SSK902 GPZ900R A1-8 84-94 SSK902
KXT250B1/B2 86-87 SSH901  ZL/EL600 95-97 SSH901 Z900A4 76 SSK400

KZ250A SSK100 GPX600R C1-7 88-96 SSK902 7900B1 76 SSK400

Z250A/B 79-83 SSK100 GPZ600OR Al-5 85-89 SSK902  ZL900A1/A2 85-86 SSK902
Z250C1-C2 81-83 SSK200 KL600A1/B1/B2 84-86 'SSK902  Z1-A/B-900 73-75 SSK400
7250G1-G2 80-84 SSK200 KLR600 84-88 SSK902  Z1R SERIES 78-80 SSK400
S1A/B/C-250 73-75 SSK100 ZX600C SSK902  ZX900A1-A8 84-91 SSK902

ZZR250 EZ250H1-2 90-93 SSK400 ZX600A1-A3/B1 85-87 SSK902  ZX9-R B1-4 94-97 SSK907

KLX300 A2-A7 97-04 SSK906  ZX600C1-C7 88-96 SSK902  ZX9-R C1-C2 98-99 SSK907

EX350B1 83 SSK100 7X600D1-D3/E1-13 90-07 SSK902  ZX9-R E1-E3 00-02 SSK908
GPZ305A1/B1-10 83-96 SSK100 ZX6-R F1-3 95-97 SSK902  ZX9-RF1-F2 02-04 SSK908
KZ350A1/A2 81-82 SSK100 ZX6-R G1-G2 98-99 SSK908 GTR1000A1-12 86-98 SSK902

KZ350B 82 SSK100 ZX6-RJ1-J2 00-02 SSK908 Z1000A1l-4 77-80 SSK400
KZ350B2/B3 87-88 SSK100 ZZR600 D/E 90-07 SSK902 Z1000B1-4 77-80 SSK400

SZ350 73 SSK100 ZX636 B/C 02-06 SSK907 Z1000D1 78 SSK400
KDK420B1 81 SSH901 EJ650A1 99-05 SSK902 71000D3 80 SSK400

KH400 76-81 SSK100 KL650A1-A5/B2 87-98 SSK902  Z1000E1-2 79-80 SSK901
KX420A1/A2 80-81 SSH901 KLR650/B2 TENGA 87-96 SSK902 71000G1 80 SSK400
Z400A1-2 77-78 SSK100 KLR650C1-C10 95-04 SSK902 71000J1-3 81-83 SSK902
Z400B1-2 78-80 SSK100 EX650 ER650F 06-07 SSK907 Z1000K LTD 81-83 SSK902
Z400D/D2/D3 74-77 SSK100 KZ650E1/F1 80 SSK400 Z1000M1-3 81-82 SSK902

Z400G1 79 SSK100 KZ650H1-H3 81-83 SSK400 Z1000P1-10 82-91 SSK902

Z400H1 79 SSK100 KZ650T SSK400 Z1000R 83 SSK902

Z400J1-3 80-83 'SSK400 W650A1-A3/C3-C6 99-05 SSK902 ZG1000A1-Al4 86-99 SSK902
ZR400A1/B1 Z400F 83-84 SSK902 W650C1-2 SSK400 ZL1000A1 87 SSK902

ZX400C2 85 SSK902 7650B1-3 76 SSK400 ZR1000A1-A6/B7/C7 (Z1000) 03-07 SSK907
ZXR400L1-9/B 91-02 SSK907 Z650C1-3 77 SSK400  ZX1000A1/A2 86-87 SSK902
KZ400S/52/S3 75-77 'SSK100 Z650D2-3/F1-4 78-83 SSK400 ZX1000B1-B3 88-90 SSK902

S3/A-400 74-75 SSK100 KZ700A1 84 SSK902 7X10 B1-3 88-90 SSK902
EN450A1-A7 85-91 SSK902 ZN700A1/A2 84-85 SSK902  ZX10-R C1-C2 04-05 SSK907
EN450LTD 86-89 SSK902 GP750R SSK902  ZX10-R D6-D7 06-07 SSK902

EN450N SSK902 GPZ750R SSK902  71000K1 LTD 82 SSK902
KDX450A1 82 SSH901 GPZ750R1 SSK902 GPZ1100A1 ZX1100 83 SSK902

KX450F 06-07 SSK905 H2/A/B/C-750 72-75 SSK100 GPZ1100A2-3 84-85 SSK902
Z440A2/C1-2/D4-6 79-84 SSK100 Z7750B1-4 76-79 SSK400 GPZ1100B1-2 82-83 SSK902
Z440H1-2 82-83 SSK100 Z750E1-3 80-82 SSK400 Z1100A1-3 81-83 SSK902

EN500 90-96 SSK902 Z750F1 83 SSK902 Z1100B1-3 81-82 SSK902

EN500 96-99 SSK902 7750G1 SSK400 Z1100D1-2 82-83 SSK902
GPZ500SA1-6 87-93 SSK400 Z750H1-2 LTD 80-81 SSK400 71100L1 83 SSK902
GPZ500SD1-12 94-05 SSK400 Z750L3-4 83-87 SSK902  71100J1/)2 SSK902
EX500A1-A7 87-93 SSK400 GPX750R ZX750F 87-89 SSK902 71100z SSK902
EX500D1-D5 94-98 SSK400 GT750P1-10 82-98 SSK902 Z110R1 84 SSK902
EX500E1-E6 94-99 SSK400 GPZ750RT TWIN SHOCK 82 SSK902 ZN1100B1/B2 84-85 SSK902

ER-5 97-07 SSK400 GPZ750A ZX 83-87 SSK902 ZR1100 ZEPHYR 92-98 SSK902
ER500A1-A3 97-99 SSK400 GPZ750R G2-3 W/COOL 85-86 SSK902 ZRX1100 97-00 SSK902

PLEASE NOTE :-
SSK904 / SSK906 COME WITH REQUIRED DUST SEALS

web: www.staniforths.co.uk | Email: sales@staniforths.co.uk 436



7))
O
=
oc
<
wi
(aa]

DESCRIPTION YEAR ORDER REF  DESCRIPTION YEAR ORDER REF  DESCRIPTION YEAR ORDER REF
ZZR1100C/D 90-01 SSK907  TU125XT X 99 §S5100 RM400C 78 §55250
ZX1100A1/A2 83-84 SSK902  UH125 Burgman 02-06 SSH901  RMA400N/T 79-80 SSY125
ZX1100D1-D7 93-99 SSK907  VL125 Intruder 99-06 SSH901  SP400T 80 S$55250
ZG1200A1 86 SSH901 RM125A/B/C 75-78 §8§250 = TM/TS400 73-77 S55250
ZG1200B1-B12 87-98 SSH901 = RM125N/T 79-80 SSY125 = GS425E 78-80 $S5250
ZRX1200R/S 01-07 SSK902  PE175C 78-79 SSS250  GSA50E 80-83 SSH901
ZX12 00-01 SSK908  GT185 K-C 73-78 SSS100  GS4A50EG/) 87-88 SSH901
ZX12-R 02-06 SSK907  TS185 K-C 73-78 $SS100 = GS450G 82-85 SSH901
ZZR1200 02-05 SSK907  TS185ER N-X 79-81 SSS100  GS450L 80-88 SSH901
71300 79-86 SSK901  DR200D J-L 88-90 SSS100  GS450TX/TZ 81-82 SSH901
Z1300B1 82 SSK901 DR200SE 96-98 SSH901  GS450T/XZ/TXD 82-83 SSH901
ZN1300A1-A6 83-88 SSK901  GT200EN/EX 79-82 SSS100  RMZ450 05-07 $S5904
VN-15SE SSK902  SB200EN/EX 79-83 SSS100  DR/PES00T/X 80-81 SSH901
VN1500A1-A5 87-91 SSK902  AN250 X 99 SSH901 DR500X/Z/D 81-83 SSH901
VN1500B1-B5 87-91 SSK902 DR250 90-91 SSH901  GSS00EK-K5 89-05 SSH901
VN1500A1-E2 93-99 SSK902  DR250S L-R 90-94 SSH901 GTS00A/B 76-77 $S5250
VN1500G1-P2H 99-04 SSK907  DR250SE S 95 SSH901 RG500 GAMMA 85-87 SSH901
VN1600A1H/A2H 03-07 SSK907 DRZ250S 01-04 SSS904  SP500X/2 81-82 SSH901
VN2000A1-A6/D1-D6 04-07 SSK907 GN250Z/D/F 82-85 SSH901  GS550B/C/EC 77-78 $55250

GN250F/J/M/R 87-94 §S§250  GS550DB/EC/EN 77-79 S55250
SUZUKI GN250T 96 SSH901 = GS550ET/X/Z 80-83 SSH901
A50 71-78 SSS100  GS250FW 85 §55250  GS550LT/X CUSTOM 81-83 SSH901
AP50 75-78 §S5100  GSX250ET/X 79-81 SS8250  GS550LF/LG 85-86 SSH901
GT50KB 77-78 SS§100 = GSX250EZ 82 §55250  GS550M/Z/X KATANA 81-83 SSH901
GT50KEN 79-80 SSS100 = GSX250F M-R 91-94 SSH901  GS550TX 81 SSH901
ORS0ET 80 SS5100 = GSX250T/ET 80 SS5250  GSX550ESD/EFE 84-87 SSH901
RB50H 87 888100  GT250K/L/M/A/B/C 73-77 S$8§250 = GT550J-B 72-77 $55250
RM50 78-82 SS§100  GT250E N-Z X7 78-83 SSS100  DR600SF/RG 85-86 SSH901
TS50ER 80-83 888100  Gz250 99 SSH901 GSF600F BANDIT 95-05 SSH901
ZR50KEN/KEX X1 79-83 SSS100  pE250C/N 78-79 S$S8§250 = “GSR600 K6 - K9,L0” 06-10 SSS903R
ZR50LKX 82-84 S§S8100  pE250T/TX 80-81 SSH901 = GSX600F)-K4 88-04 SSH901
ZR50SKX/SKE/SKH 83-90 SSS100  RG250 MK1/2/3 83-88 SSH901 = GXSR600W N/P 92-93 SSH901
RM60 79-83 SS5100 @ RGV250K-R 89-94 SSH901 = GSXR600 V/W/X/Y 97-00 SSS901
RM65 03-05 SSK904  RM250A/B/C/C2 76-78 §§S250 = GSXR600 K1-K3 01-03 SSS903
DS80N 92-93 SS§100 = RM250N/T 79-80 SSY125 = GSXR600 K4-K9,LO 04-10 SSS903R
DS80T-W 96-98 SSS100  RM250T/X 80-81 SSH901  RF600RP/R 93-96 SSH901
RM80 77-82 SSS100  RM250 89-90 SSY901 = VS600GL 96 SSH901
RM80X 83-85 SS§100 RM250 92-05 S$SS904 = AN650 Burgman 02-07 SSH901
RM80 90-01 SSS901  RM250 06-07 S$SS906  DL650 V Storm 04-07 SSS903
RM85 02-07 SSS901 = RMZ250 04-07 SSK905  DL650 V Storm K7 - K9,L0  07-10 SSS903R
TS90 71-73 §S8100  TM250K/L/M 73-75 $88250  DR650RSE M/N/P 91-93 SSH901
A100 K-B 73-77 SSS100  TS250L/M/A/B/C 70-79 SSS250  DR650SET 96 SSH901
RM100N/T/X 79-81 SSY125  TS250ERN/T/X 79-82 §8§250 = GR650D/XD 83 SSH901
GP100 78-84 SSS100  TS250XE/G/H/J/K 85-89 SSS902  GS650EX/EZ 81-82 SSH901
GP100U 79-93 SSS100  TU250 W/X 98-99 SSH901 GS650GX/GZ/GD 81-83 SSH901
T$100 K-C 73-78 SSS100  DR350 90-00 SSH901  GS650GL 81-83 SSH901
TS100ER 76-89 SSS100  DR350SL/M/N/P/R 91-94 SSH901  GS650MD 83 SSH901
B120D 71-77 SSS100  GS300LF 84 §58250  XN85 650 TURBO 83 SSH901
DR125S Z/D/E 82-86 SSS100  GS300LZ/LD 83 SSS250  LS650FG/PK/M/P/R 87-96 SSH901
DRZ125 03-07 SSS901  DR350 L-W 90-98 SSH901  LS650P T-X 96-99 SSH901
GN125R 94-96 SSS100 = DR350S L-R 90-94 SSH901  SV650X/Y - K1/K2 99-02 SSH901
GN125E V 97 SSS100  DR350SE R-W 94-98 SSH901  SV650K3 - K7 03-07 SSS903
GN125(U/E)X/W 98-99 SSS100  T350 70-73 §88250  SV650SX/SY - SK1/SK2 99-02 SSH901
GP125C/N/X/D 78-89 SSS100  SP370 77-80 SS8250 = SV6505K3 - SK7 03-07 $SS903
GS125ES Z-M 82-91 SSS100 = GT380K-B 73-77 $S8250  XF650V FREEWIND 97-02 SSS904
GS125ES R 94 55100 RM370A/B/C 76-77 $8§250  DR700SJ-K 88-89 SSH901
GS125(S/U/ES/SL)X 98 SSS100  AN400X 99-04 SSH901  GS700EF/ESF 85 SSH901
GT125 L-C 73-78 SSS100  DR400ST 80-82 SSH901  GV-700GLF 85 SSH901
GZ125(U) W/X 98-99 SSH901  DRZ400 00-07 $SS904  VS700 86-87 SSH901
RG125UCG/UH/UJ 85-92 SSS100  GN40OT/TX/TZ 80-82 SSH901  DR750S/SU/J/K SSH901
RGV125 92-96 SSH901  GS400B/C/EC 77-78 SSS250  GT750 73-77 S55250
RM125 92-05 SSS904 = GS400M 91 SSH901 GS750B/C/EC/N 77-79 S55250
RM125 06-07 SSS906  GS425N/EN 79 SS8250 = GS750EN/LN/LT 79-80 $S55250
TS125 STINGER 70-73 SSS100 = GSF400M-P BANDIT 91-94 SSH901  GS750ET/EX/EZ 80-85 SSH901
TS125 K-C 73-78 SSS100  GSX400EE/SE/EF/SF 85 SSH901 GS750ED/ESD 83 SSH901
TS125ER T/X 80-81 SSS100  GSX400ET/EX/EZ/TX 81 ON SSH901  GS750LT/LX 80-81 SSH901
TS125UF/G/) 85-90 SSH901 = GSX400FX/Z/D 81-84 SSH901  GS750ESD 83 SSH901
TS125RK-RR 90-96 SSH901 = GSXR400F SSH901 = GS750TZ/TD 82-83 SSH901
437 telephone: 0114 2462027 | Fax: 0114 2454232



DESCRIPTION YeAR ORDER REF  DESCRIPTION YeAaR ORDER REF  DESCRIPTION YearR ORDER REF
GSX750ET/EX 80-81 SSH901 YZ80A-F 74-79 SSY080 TW200 87-91 SSY080
GSX750ESD/EFE 82-83 SSH901 YZ80A-F 84-92 SSY080  WR200 RD 92 SSY901
GSX750SE KATANA 85 'SSH901 TTR90O 00-07 SSY080  XT200J/K/KC 82-83 SSY080
GSXR750F/G/H/I/K/L/M 85-91 SSH901 AG100B SSY080  YTM200K/RK 83 SSY080
GSXR750WN/WP/WR/WS  92-95 'SSH901 DT100 74-80 SSY080  YTM200ON/ERN 84 'SSY125
GSXR750WT-W 96-98 SSS903  L5T/L5TA-100 69-70 SSY125 YTM225DRN/DRS 85-86 SSY125
GSXR750 T-K5 96-05 SSS903 = MX100F/H/J/K 79-83 SSY080  YTM225DXK 83 SSY080
GSXR750 K6 - K9,LO 06-10 SSS903R RS100 / DX 75-80 SSY080  YTMDXL/DXN 84-85 SSY125
GSX750FK/V 89-97 SSH901 RXS100 83-96 SSY080 DT1/B/S/C/E-250 68-71 SSY080
GSX750FW-FK5 98-05 'SSH901  YB100 75-92 'SSY125 DT1CMX/DT2-250 71-72 SSY080
VS750G 88-91 SSH901 YZ100C/D/E/F 76-79 SSY080 DT2/3/DT-250A-F 72-79 SSY080
DR800SL-M 90-91 SSH901 AT1B/AT1C-125 70-71 SSY080 DT250MX 75-81 SSY080
VL800 Intruder 01-04 SSH901  AT1E-125 69 SSY080 IT250D/E/F 77-79 |SSH901
VS800GL N-R 92-99 SSH901 AT2/AT3-125 72-73 SSY080  UT250G/H/J/K 80-83 SSH901
VX800L-T 90-96 SSH901 AT2M/ATMX-125 72-73 SSY080  MX-250A/B 73-75 SSY080
VZ800V MARAUDER 97-01 SSH901 AT1MX-125 71 SSY080 RD250A/B/C/DX/XE/XF 73-79 SSY125
GS850G/GL 79-83 SSH901 DT125A/H 74-81 SSY080 RD250LC 80-84 SSY125
RF900RR 94-99 SSH901 DT125LC MK1 SSY080  RD250YPVS 83-84 SSY125
DL1000K?2 - K7 V-Storm 02-07 SSS903R DT125MX 84 SSY080  SR250SE 80-82 SSY125
GS1000C/EC/N 78-79 SSH901 DT125R 98-03 SSY085 SR250 93-94 'SSY125
GS1000ET 80 SSH901 DT125X 05-07 SSH901  SRX250N 85 SSY125
GS1000/GL 80-81 SSH901 IT125G/H 80-81 SSY080  SRX250T/TC 87 SSY125
GS1000LN/SN/ST 79-80 SSH901 MX-125A/B/C 74-76 SSY080  TD3/TR3-250 RACE 72 SSY125
GS1000SZ KATANA 82-83 SSH901 RD125B/C 75-76 SSY125  TT/XT-250G/H/) 80-82 SSY080
GSX-R1000K1 - K4 01-04 SSS903 RD125DX 75-81 SSY125  TY250A/C/D 74-77 SSY080
GSX-R1000K5 - K9,LO 05-10 SSS903R RD125LC MK1/2/3 82-87 SSY125  TZ250 RACE 73 SSY125
SV1000K3 - K5 03-05 SSS903R RS125/ DX 75-81 SSY080 TZ250C/D/E 76-78 SSY125
SV1000SK3 - SK5 03-05 SSS903R SR125 82-03 SSY080  TZ250F/G/H/) 79-82 SSH901
TL1000R W - K3 98-03 SSS903R TDR125 97-99 SSY080 TZR250 87-92 SSY125
TL1000S V/X 97-02 SSS903 TW125 99-03 SSY080  TZR250R SSH901
GS1100SG SHAFT 82 SSH901 TZR125 87-93 SSY125 WR250 ZB 91 SSH901
GSX1100ET/EX/EZ 80-82 SSH901 TZR125R 95-97 SSH901  WR250 F 02-08 SSY903
GSX110ESD/EFE 83-86 SSH901 TA-125 RACE SSY125 WR250Z 91-97 SSY903
GSX1100SZ/SD KATANA 82-84 SSH901 TD2/TD2B-125 70-71 SSY125  XS250 SSY125
GSX1100F)-T 88-96 SSH901 TR2/TR2B-125 70-71 SSY125  XT250W 89 SSY080
GSXR1100G/H/J/K/L/N 86-92 SSH901 TZ-125G RACE 80 SSY125  XV250U-W 88-89 SSY125
GSXR1100WP/WT/WV 93-97 SSH901 YB125E/F SSY125  XT250K/KC 83 SSY080
GSX1100GM-N 91-94 SSH901  XT125J 82 SSY080  XT250L/LC 84 SSH901
GS1150E 83-86 SSH901 XT125J/K/KC 82-83 SSY080  XV250S VIRAGO 96-00 SSY125
GSF1200 BANDIT 96-05 SSH901 XV125 97-99 SSY125  XVS250 Drag Star 01-04 SSY125
GSX1200 X 99 SSH901 XVS125 DragStar 00-04 SSH901 YP250 96-04 SSY080
GV1200G 85-86 SSH901 YP125R 99 SSY080  YP250D 98-99 SSY080
GSX1300 B - King K8,K9 08-09 SSS903R YT125N 85 SSY080  YP250A/D 99 SSY080
GSXR1300R (U1,U2) 99-10 SSS903R YZ125A/B/C/X 74-76 SSY080  YZ250A/B/C 74-76 SSY080
GSX1400 01-06 SSH901 YZ125D-S 77-76 SSH901  YZ250D-T 77-87 SSH901
GV1400G 86-89 SSH901  YZ125 87-95 §SY901 Y7250 88-95 SSY901
VS1400 INTRUDER 87-00 SSH901 YZ125 96-09 SSY903  YZ250 96-09 SSY903
VL1500 98-02 'SSH901 AG175B SSY080  YZ250F 04-09 SSY903
VZ1600K4 04 SSS903R CT1-175/B/C 69-71 SSY080 @ RD350 75-79 SSY125
CT2/CT3-175 72-73 SSY080 RD350A/B 73-75 SSY125
YAMAHA DT175A-H 74-81 SSY080 RD350LC 80-83 SSY125
DT50B SSY080  DT175MX 78-83 SSY080  RB350 YPVS/N/F 83-92 'SSY125
DT50MX 78-94 SSY080  |T175D-K 77-83 SSH901 R5/B/C-350 70-72 SSY125
FS1E / DX 74-79 SSY125 MX175A/B 74-75 SSY080  RZ350L/N/NC 84-85 SSY125
FS1 / DX 79-90 SSY125 MX175G/H/) 79-81 SSY080  TT-350S/T 86-87 SSH901
FS1SE 81-82 SSY125  SR185H/J 81-82 SSY080 TZ-350C/D/E 74-78 SSY125
RD50 / 50MX 78-87 SSY080 TY175B/C 75-76 SSY080  XT350 85-93 |SSH901
TY50M 79-80 'SSY080  YT175J/K 82-83 SSY080 DT/YZ/360A/B 74-75 SSY080
RD-60/A/B 73-75 SSY080  YZ175C 76 SYS080 = MX360/A 73-74 SSY080
RX-50K/L/M 83-84 SSY080 AG200 SSY080  MZ360A 74 SSY080
YSR-50T-B 87-91 SSY080  BW200ON/S 85-86 SSY080 RT1/RT1B-360 70-71 SSY080
DT80MX 81-83 SSY080  BW20OES/ET/EU 86-88 SSY080 RT1M/RT1MX-360 70-71 SSY080
GT80B SSY080  IT200L/N/S 84-86 SSH901 RT2MX-360 72 SSY080
RD8OLC 82 SSY080 RD200 / DX 73-78 SSY125  RTZ/RT3-360 72-73 SSY080
RD80MX 82 SSY080 RS200 79-80 SSY125  XS360C/D/2D 76-77 SSY125

web: www.staniforths.co.uk |

PLEASE NOTE :-
SSK904 / SSK906 COME WITH REQUIRED DUST SEALS

Email: sales@staniforths.co.uk

438

BEARINGS




DESCRIPTION YeEAR ORDER REF  DESCRIPTION YEAR ORDER REF  DESCRIPTION YEAR ORDER REF

YZ360A/B 74-75 SSY080  FZ6 / FZ6 Fazer 03-07 SSH901  FZR1000 GEN/EXUP 87-95 SSH901

DT400B-E 75-78 SSY080 = SRX600S/SC 86 SSY500  FZS1000 Fazer 00-05 SSH901

DT400MX 78-80 SSY080 = SRX600T 86-87 SSY500  FZ1 Fazer 06-09 SSS903R

FZ400R SSY500  TT600L/N/S/T/U 83-88 SSH901  XV1000 TR1 81 SSY500

FZR400 88-90 SSH901  TT600 R 00-07 SSY901  XV1000 VIRAGO 84-85 SSH901

FZRA0ORR 92-94 SSH901 = XJ600 84-92 SSY125 = YZF1000R THUNDERACE 96-03 SSH901

FZRAOORRSP 91-92 SSH901 = XJ600 DIVERSION 91-03 SSH901  YZF-R1 98-10 SSS903R

IT400C 76 SSY080 = XJ60ON 95-99 SSH901  BT1100 01-06 SSH901

ITA00D/E/F 77-79 SSH901  X600S 92-99 SSH901  FJ1100 84-85 SSH901

IT425G 80 SSH901  XT600 / TENERE 84-94 SSH901  XJ100J 82 SSH901
W) MX/YZ400B SSY080  XT600E 90-03 SSH901  XS1100 ALL 78-81 SSH901
(D RD400A/B/C/D 76-79 SSY125 = YX600 86-90 SSY125  Xv1100 VIRAGO 86-96 SSH901
Z SRX400 SSY500 YZF600R THUNDERCAT 97-03 SSH901 xVv1100 97 SSH901
— WR400 F 98-02 SSY903 YZF-R6 99-10 SSS903R XxVS1100 98-07 SSH901
(n XJ400 80-85 SSY125 YZF - R46 03-05 SSS903R FJ1200 86-94 SSH901
5 XS400D/E/F/F2E/F 77-79 SSY125  TX650/A 73-74 SSY500  yMIX12 V-MAX 91-04 SSH901
o XS400G/H/J/K 80-83 SSY125  XJ650G/H/J/K 80-83 SSY500  XJR1200 95-98 SSH901

XS400RJ/RK 82-83 SSY125  XJ60OLH 81 SSY500  xvz-12 VENTURE 83-85 SSH901

XS400SG/SH/S) 80-82 SSY125  ZJ650LJ/LK 82-83 SSY500  FJR1300 01-10 SSS903R

YZ400D/E/F 77-90 SSH901  XJ650/XJ650T TURBO 80-84 SSY500  X)R1300 99-07 SSH901

WR426 F 01-02 SSY903  XS650B-H/2F 78-81 SSY500  xjR1300SP 99-07 SSH901

YZ426 F 00-02 SSY903  XS650SE-SH 78-81 SSY500  xv7-13 VENTURE 86-91 SSH901

WR420 F 03-07 SSY903  XS650SJ/SK 82-83 SSY500  x\7-13D S-E 86-94 SSH901

YZ450 F 03-09 'SSY903  XS1/1B/XS2-650 70-72 'SSY500  x\71300A ROYAL STAR 96-98 SSH901

IT465H/) 81-82 SSH901  XVS650 Drag Star 97-07 SSH901  y\/1600A 99-02 SSH901

YZ465G/H 80-81 SSH901 XTZ660 TENERE 91-96 SSH901  yv/1700 03-05 SSH901

IT490K/L 83-84 SSH901 FZ700T/TC 87 SSH901

YZ490J/A 82-90 SSH901  FZX700S/T/TC 86-87 SSH901 BMW

RD500LC 84-86 SSH901  XJ700N/NC/S/SC 85-86 SSH901  ALL MODELS 59-69 SSWO055

SC500/A 73-74 SSY080  XJ700XN/XS/XSC 85-86 SSH901  ALL MODELS 69- SSW901

SR500E/F/G/H 78-82 SSY080 = XV700 VIRAGO 84-87 SSH901

SX500B/C/D/E 75-78 SSY500  FZ750 85-92 SSH901 TRIUMPH

TT/XT500C-H 76-81 SSY080  FZR750R 90 SSH901 ADVENTURER 96-01 SSH901

TX500/A 73-74 SSY500 = FZR750RT/RU 87-88 SSH901 DAYTONA 91-96 SSH901

XP500 T Max 00-05 SSH901 FZR750 OWO1 89-92 SSH901  SPEED TRIPLE 900 94 ON 'SSH901

XS500 75-81 SSY500 = TX750/A 73-74 SSY500  SPRINT 9500 93-98 SSH901

XT500 76-80 SSY080  XJ750J/K/MK 82-83 SSY500 SUPER3 94 ON |SSH901

XV500K 83 SSY125  XJ750RH/RJ/RK 81-83 SSY500 TIGER 93-98 SSH901

XV535 / SE VIRAGO 88-04 SSY125  XTZ750 89-94 SSH901 THUNDERBIRD 95 ON SSH901

XK550H/J/K 81-83 SSY125  XS750 ALL 77-79 SSH901  TRIDENT 91-99 SSH901

XJ550RH/RI/RK 81-83 SSY125  XV750H/J/K/MK 81-83 SSY500 TROPHY 91-03 SSH901

XS550RK 82-83 SSY500 = XV750 VIRAGO 88-96 SSH901

XT550J/K 82-83 SSH901 = YZF750R 93-97 SSH901

XV535T/TC/U/A 87-90 SSY125 TDMS850 91-01 SSH901

XZ550RJ/RK 82-83 SSY500 = TRX850 96-00 SSH901

XZ550RK/RJ 82-83 SSY500 = XS850 ALL 80-81 SSH901

FI600L/LC/N/NC 84-85 SSY125 TDM900 02-10 SSS903R

FZ600 86-88 SSY500 = XJ900 83-94 SSH901

FZR600 89-93 SSH901  XJ900S DIVERSION 95-04 SSH901

FZR600R 94-98 SSH901  XV920J/K/MK 82-83 SSY500

FZS600 Fazer 98-04 SSH901  XV920RH/RJ 81-82 SSY500

PLEASE NOTE :-
SSK904 / SSK906 COME WITH REQUIRED DUST SEALS

439 telephone: 0114 2462027 | Fax: 0114 2454232



~ KOYO BEARINGS

STEERING HEAD BEARING KIT CROSS REFERENCES

SPECIAL NONE CONVENTIONAL BEARINGS

DESCRIPTION ORDER REF
ORDER REF BEARING DUST BEARING DUST 16005 4750548 i
Upper Seal Lower Seal 3205 (ATN9) 52x25x21 BEA089
3304 (ATN9) 52x20x22 BEA155
6205 N 30205 N
SH45 6204 SH4 - 9C3 47x20x14 BEA492
SH046 225H 41H N 225H 41H N 6205 C4 FG Cage 52x25x15 BEA130
6304 SH2-9TC3 53x20x15 BEA404
SSHO050 225H 41H N 24H 41H BEA0OO
8 6305R1SH2-9TCS35 62x25x16 BEA401
SSH200 225H 41H N 24H 41H BEA000/6 BKM354220-1UU
0.E. 93317-43580 40x34x18 BEA456
H H264815Y-26 485H N 27 485H N
sy DG1742RS 42x17x13 BEA400
SSH750 | |H264815Y-26 485H N H305014Y N RLS5-LJ/58"Y (STD) 40x16x11 BEA142
RLS6-LJ3/4") (STD) 48x19x14 BEA143
SSH901 320050R N 32006JR BEA0OO
7| Ris7-L78") (STD) 51x22x14 BEA139
SSH902 91015-425-832 N 91015-425-832 | BEA00OO
TAPER BEARINGS
SSH902R 91015-425-832 | BEA0DO | 91015-425-832 | BEAOOO/A [  575h a1n 41x22.5x13 BEA440
SSH902RR | | 91015-425-832 | BEAOOO | 91015-425-832 | BEA0OO 24H 41H 41x24x12 BEA441
25M1 43Y1 43x25x11 BEA447
SSH903 91015-425-832 N 32006JR N 25M1 45M 45x25x14.5 BEA464
SSH903R 91015-425-832 | BEA00O 32006JR BEAQ0O/7 25M1 46M 46x25x12 BEA443
255 48YS 48x25x16 BEA428
SSH904 91015-425-832 | BEAOOO/5 | CR-0627 (305115)| BEAOOO/L | 55y 4gys 48x25x15 BEA429
SSH905 CR-0627 (305115) | BEA00O/1 | CR-0627 (305115) | BEA00O/2 25YM 48Y 48x25x13 BEA430
27 485H 48x27x15 BEA453
SSH907 | [cR-0627 (305115)| BEAO0O/2 32006JR BEAOOO/7 | 575 43Ks 48x27x14 BEA431
SSH908 91015-425-832 | BEA00DO/5 | 91015-425-832 | BEA0OO 284612 46x28x12 BEA474
28YM 51M 51x28x12 BEA444
SSK100 30YM 48Y N 30YM 48Y N 30204)R 4752015 BEA159
SSK125 25M1 46M N 284612 N 30304JR 52x20x16 BEA183
30306JR 72x30x21 BEA182
SSK200 25M1 46M N 28YM 51M N 30K 48KS 48x30x14 BEA4E3
SSK400 30K 48KS N 30KW 52K N 30KW 52K 52x30x17 BEA445
30YM 48Y 48x30x13 BEA479
SSK901 320/281R N 32006JR N 32004% 4252016 BEA4S3
SSK902 32005JR N 320/28IR N 320/28JR 52x28x16 BEA147
320/28JR RS 52x28x18 BEA194
SSK904 32005JR BEA0OO 32005JR BEA0OO 320/28JR RS-1 52028x17 BEA405
SSK905 32006JR RS-2 N 320/28JR RS-2 Y 320/28JR RS-2 52x28x19 BEA478
32005JR 47x25x15 BEA106
SSK906 32005JR BEAOOO | 320/28IR RS-2 Y 32005JR RS A7x25x15 BEAL44
SSK907 32907JR-3 N 32907JR-3 N 32005JR RS-1 47x25x17 BEA160
32006JR 55x30x17 BEA105
SSK908 32005JR N 32907JR-3 N 32006JR RS =5x30x19 BEA129
S$SS100 25M1 45M N 27S 48KS N 32907 JR-2 55x35x13 BEA116
32907 JR-3 55x35x14 BEA126
$55250 DG N RS N 34W 51W-HR 320/25 51x34x12 BEA446
$SS901 91015-425-832 N 32005JR BEA0OOO 4T-CR-0643L 52x30x16 BEA439
CR-0627 (305115) 51x30x15 BEA436
§55902 LI G ] e N H264815Y-26 485H 48x26x15 BEA432
$SS903 32006JR N 32006JR BEA000/7 H305014Y 50x30x15 BEA433
SSS903R 32006JR BEA00O/7 32006JR BEAO0O/7| HONDA O.E.
$55904 4T-CR-0643L N 4T-CR-0643L N 21015-425-832 47x26x15 =
SSWO055 | [3awsiw-HR32025| N [34W51W-HR32025| N
SSW901 320/281R N 320/28IR N
SSY080 25M1 43Y1 N 30YM1 48Y1 N
SSY085 25M1 43Y1 N 32006JR N
SSY125 30YM 48Y N 25YM 48Y N
SSY500 25Y 48YS N SAC 3048 N
SSY901 320/28IJR N 320/28JR RS Y
SSY902 320/281R N 320/28JR RS-1 Y

web: www.staniforths.co.uk |

Email: sales@staniforths.co.uk

440

BEARINGS




	Back to Index

	KOYO BEARINGS
	WHEEL BEARINGS APPLICATION
	Honda

	Honda Off Road

	Kawasaki

	Kawasaki Off Road

	KTM

	Suzuki

	Suzuki Off Road

	Triumph

	Yamaha

	Yamaha Off Road


	CRANK BEARINGS
	LOOSE BEARINGS (Carded)

	STEERING HEAD BEARINGS
	Aprilia/BMW/Honda

	Kawasaki

	Suzuki

	Yamaha

	Triumph

	CROSS REFERENCES

	SPECIAL NONE CONVENTIONAL



